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“Set b 07 Jlo slp jopd e plal “Set” jgiws Giyb 5l asie SO a Jlade S ol
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“Set x $a”

@ pplge Lo ST e olaie 4 05l o ploul expression jgiws 5,k 5l 2ol Oldas

:M%%Lu‘wuwbb5ax_ﬁnY@wa

“Set X [expr $a+$b]”
Tro e b il g5 5l Wlgi e yeiie S ol wiloais suugs b e Tel o

Puts”[ expr 1/60 ]~

'- string
2. Integer
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Puts”’[ expr 1.0/60.0]”

Gy 4oy 5l o b T sl atily gy b SO glawl o as #H ool
3,5 0lg3s Lal 1) b T tel jude g 5o olgss

oy “filename” Mo s Loladl ol ol o b aSST (S b oG ol! cgs
“filel” Do 99 oo ooliiwl b1 oyl a4y s yiwsd jglaieds tel anliyp yloo 5l aS T a0 5 o Lal SO
g 0 plxil Set filel [open filename W] :jsiws S L o)lge opl g

B S 0 4z g ple amio 4 ax Sl Gl (295 S Sl Cex puts s
Sgh e el wam bt SO jgws ol 5l eslatul b e boasl atsls bl 4 0gd o eoliiul
L 51 .0l oo “puts” jgiws 5l o —nonewline ;0,5 a8lol o, S 0,50 (ol 5l Slist sl p
(s 1y s Saslml g, Yy o) il axils [, BB Sy o ra)> 505 ly b
i ST e 6l c0gi o plol \t (0,5 a8lol b s Jgaz puts filet "text” :ouby aunlys
pba LB o) las G jgws ol Puts § filel “X § X7 pasgin 9 ol atils Q Llade x
\u_ll} slad SIS G lawgs g sl oo Vg X't gae ¥V gl)ls a5 wyled oo ol “filename”
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exec Xgraph data &
(358 o0 03liinl dinn) oy ;0 H5twd (ab L2l S & cdle a5 asl ansls bl @)
L Ry SHge L lf G &:)L}Lw-

If {expression} {
<excute some commands>
} else {
< excute some commands>

}

“<excute some jisw 0 45 oeb oolalwl leelse plug leif plul wlg o if jeiws
FJab b ply oo,Scd gloy jo ail atils bl 4 .wgd ol ailes o commands>”
p.AJLo.’GA oolaw! )‘ 6)‘.")‘.’L§ uo;w.., LS‘)'.’ﬁ S )‘ a 9 p—*—’LN oolazwl H=="

W e, A4 NS o eadl>-

For {Seti 0} {$i<s} { incri }{

} <excute some commands>

7 Set &yl for jgiws 5l s Ggd oo pll 45 0 O dil> 9,0 Dlygiws Jlie cpl o
ST e (09 e by Bl dil> 0065 0 g wules oo (asien | ddl> slbaslsl by {} O
Db oo 005 Lo puaie s fOr &jle 0,5 a5 5l iSe 31 g o0y delsl B sae

sls zals 1y ol gove Jlade g co Jg pepd oo ol 8l SoasSS 1y i i Lo > (0l o
Dged oolawl Kb jleds ials g ol gl ol Olle 51 o bg (Jep oo,led)

asb “return” jgiws sl Ll a5 5,90 50 aigd ol \LM%S) G aes oo ol tel

Pro blue {par1par2...} {
Global var1 var2

' - procedure
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<commands>

Return $ something
}

L )30 50 les go 28l y0 il paio b o L1 sl il oo o571yl )b (S0 Iy,

S50 el e b g, ol 9y byl cnl aadl oo 0 s par2s parl ol laytel)ly ()l
Y 3X polie aS ol 0 0ad o0 Slg>)8 bluex y ... Ojso a4 Jlg, ol 055 o0 ]38 ool
Ol ol 05 s gy 2 50 YX jesite 51095 o oolatul par2 5 parl ol Jls; lawss
NS ,b 4 ol Iy, eedlssn ST 500 & le 4 cails walsss 6,50 YoX (sl it 395 (5o,

o les iy a5 “global” | by o] 0l il ()5 slo yiie (59, pekinme

# create a procedure
Proc test { } {

Seta43

Setb 27

Set ¢ [ expr $a + $b ]

Setd[expr[$a-$b]* $c]

Puts “c=$%$c d =$d”

For {set kO0} {$k <10} {incr k} {
If{$k<5}{

Puts “k <5, pow =[expr pow ($d,$k)]”
} else {

Puts “k>=5,mod=[expr$d % $k]”
}

}

# calling the procedure
Test

}

b, Jles! alil gl tel anli V=) g

dsles oo olive |, Jlta SOV Jgam o auib oo VarlVar2 s xie o] YU Jls o
o d e Jie pl o Pow ole 0108 o Gimles astel jo |y 2oL, sleo Slee 5l (g )by a5
a2 oo Hlid Jol slael auloes gly tel 4oy 51 Jleo SOVY Jga (o ols vales Lo 4y 1) kyles
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Aol oo el 4y ool Jlu)l lo e Jolds jloy G argy e e oo Jlo )l aeli 4
Iy o Lol oy90 0, Camdan a5 20 0 o)l Lo 4y lindex jgiws g (aib oo argv Glo, Job arge)

Set j [lindex $argv | las  plols oo S LSl 0 1) peo ol)l lawgs o )Lil 0)50 e o

j e Ay |) sl 00U oj.?é argv e o aS duQL;).? Y oaﬁ.sJL,.:)‘ ),.A‘)L: U"J3| 3O O9>90 )\..Lii.o

#Usage :ns prime.tcl NUMBER

# NUMBER is the number up to we want to obtain the prime numbers

#

If {Sargee!=1}{

# Must get a single argument or program fails.

Puts stderr “ ERROR! Ns called with wrong number of argument ! ($argc)”
Exit 1

Jelse {
Set j [lindex S$argv O]
}
Proc prime {j} {
#computes all the prime numbers till j
For {set a 2 {$a<= $j} {
Setd [exper fmod ($a ,$i)]
If {$d==0} {
Set b 1}
}
If {$b==1} {
Puts “$a is not a prime number *
} else{
Puts “$a is a prime number
}
}
}
Prime $;j

# Usage ns fact.tcl NUMBER

# NUMBER is the number we mant to obtain the factorial

# if {$arge =1} {

# Must get a single argumet or program fails.

Puts stderr “ERROR! Ns called with wrong number of arguments ! ($argc)”
Exit 1
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}else {
Set f [lindex $argv O ]

}

Proc Factorial {x} {
For {setresuit1 } {$x>1} {set x [expr $x- 1]} {
Set result [expr $result * $x ]

}

Return S$result

}

Set res” Factorial of $f is $res”

dae & b ,eS L acwle (gl TCL ool aol o V-V Jou

aled oo alamMo V=Y Joaz )0 i ]y s S )5S aulne (sl (sl aeli r aiges

IS 55 OTCL o, 15 (o o sl Jao Jlio S5 b 51 adls j5b & Lo
NS b Lawgs Class oo 9,5, aelS awil Ll o5 oo LS ol o3V 100 cunls sumlys
INStproc aelS ;1 oolaiwl b la WS ;o ouls oy o5 (slonin .09l oo Calio OTCL o ol oy yx5
INit ae gl g0 iy yoi eyl oo Ghale o)y g aie (T U (T 51 g g sl ge DS 6L 51 g oS
Al co WS (constructor) oaijlu len

sl Java b C++ o this e sl all oo (h0s5 4 o3 5l S0 Lol S self s
& 25 gly -super class ) .09 oo cslatulinstvar ofly 5l OTCL o e digad (0,5 iy ,a5
oIS 5l oo slael WIS Jlie lsie 4 05 o ooliwl Koo WS 5l S G (6 p )l 40,8

Swles oo alaxdo | gad50 (! V-F Joaz 10 05 0 &)l Jhds> slael

Class Real

Real instproc init {a} {
$self instvar value —
Set value -$a

}

Real instproc sum {x} {
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$self instvar _+ [$x set value ] =\t”
Set value _ [expr $value _+ {$x set value _]]
Puts “Sop $value _”
}
Real instproc multiply {x} {
$self instvar value_
Set op “$value _* [$x set value_] =\t”
Set value _[expr $value _*[$x set value _]]
Puts “$op $value _ “
}
Real instproc divide {x} {
$self instvar value_
Set op “$value _ /[ $x set value _] =\t”
Set value _[ expr $value _/ [$x set value _]]
Puts “Sop $value _”
}
Class Integer —superclass Real
Integer instproc divide {x} {
$self instvar value
Set op “$value _/ [$x set value _] =\t”
Set d [expr $value _ /[ $x set value _]]
Set value _ [expr round ($d) ]
Puts Sop $value_”

}

Set real A [new Real 12.3]
Set realB [ new Real 0.5 |

$real A sum $real B

$real A multiply $realB

$real A divide $real B

Set integer A [new Integer 12]
Set integer B[new Integer 5]
Set integer C [ new Integer 7]

$integer A multiply $integer B
$integer B divide $integer C

zezeo o Lbly OTCL ool asli o o28ly oolawl:¥-V Jga
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symge gt ) gh BB 55 55,5 ol TCL blb S5 wsb NS o 5jlous ool g
A 0y90 AUl o Sy ple g aSb Shddng le ¢l TCL &lygiws 5l pimen g NS 5o

: )‘ M)L& L‘bg;)"ﬁ U"‘ u")-’r‘*@(" as,o.: oolaw

Loy olass
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Loy onirs Jlail S aasin -
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S oI,

L ol ol 200,85 sl jluacs (oS3l e oo SO Wb cgslwands slol gl pad o Jgl jo

set ns [ new Simulator]

5 bS] ooy ol a5 4t (g55dsys5 OtCl 5 NS &l jgiwns SoS b e 365 j5iws 5l dny

Glosg oSl oS L aSeos Dlole g aogs slonl 1 day digd oo sbml il oo a5l ke

Wb Jlail abgiye ooy 4 5o 4l Dbele pizres g Wsdi oo Jale [0S, 4 Al
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Sy en 3l jgiws cplbns jluacs S 1
set ns [new Simulator]
L1,ns was e o b opl il oo giloand’ e 50 bad sl jstws e 1A
Ales (6,080 1y T 0sles co duplgsu a5 ISs yo a4l agles co iy a5 SEE Hgiws 5l ool
a1 ol ool Lsas G wdibioe o 5 o G 13 g Simulator (oS 5| slasges 45 bl I Ll
Al (6 ISl JS8 pen
955y 4S5l eolazul L Simulator WS 5l (g5lwdises S #dlg ,o [new Simulator] oS
oS slaaie 5 mily soled 3l pudles o S oo o ol 5l eolaiwl LI Lall o new ool
oles ooliinl o puplys a5 4565 1 Simulator
Gl a5 b L (trace L) giluas Sldbl gol> (>, LB obol glaiea
el oo oolatulopen jgiwo 5l (nam gllld) 09l oo oolaiul giluacs  cualiv

# open the tarce file

Set tracefile 1[ open out. tr w]

# open the NAM trace file

Set name file [open out. nam w]
$ns namtarce-all $nam file

slp) nam go55l cavlice L8 G g outitr sl trace goisl ools LB <SG YU oS aslad

I LB pl gilwans tel laaS g, .dles oo olowl out.nam plu( NAM l5l lawss oolaiul

- o B cpl sloul a0 YU po aS sle,Fe il 5l T s 5 0o S oo 8 lawl &b )l
oo oo ooliwl nam fileg tracefilel «olos 5l 049

out.tr s pos oz .wigd oo 5T H# coodle b Slnesgs opl a5 il asls bl .o ke

'~ script
? - comment
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sobieds LB cpl aS vas o HLis W G > 108 o 5L 09l oo oolaiul igl gl a5

Sl g yalyb glls oS trace-all sly Simulator wee S 31 las pogu Cowl ool oloy! iy
51 ogiws ol b asled e eolaiul e amles atis o] 19,0 trace Sledbl a5 aib oo (Ll ol as
PRy Be) aS Qaﬁm MJLQ l; AR o0 é) 6)uw B0 FLY ‘) 6»[.95 LSALQJ Simulator J.a)ls

olod LB pad 4y pulilbos S adrine LB ST g wsh o oo, wl daleS 0ols sy Cllas
g oo 4yl B ol 55 (sl it STE ol 5l (g5l (slaolays,

e <3 NAM (59,9 B )0 1) (g5lwad @By o w68 o jludd 4 b o 3]

A Al alig o] 09,0 $ns flush-trace jgiws bwgy g aS |, LB el pien jgiws oyl
LB les a5 $nam file So Lil lawgs b1 cplle Jlo 5,90 ,o (finish aeliy 55 ,0) s o 5
¢ nam trace-all &l,giws 5l oolawl a5 ail adls ol & el asin ol o out.tr
lad Lhas g 6l aad b 31T .0e Sy sl o b obul 4 jore el Sow trace-all
3l acgeme 3 U pumled colaiul tracing oo Oljgiws 51wl el ailo 1) log sl pusd
m2lgm Cllas dolol o 1) Sligtws iz 0,5 1,0 Sl be 5La 090 a5 1) 00l (gjlwancd x3g
S pdy oo plosl finish 4l 55 Gla! lawgy (glwand aslipy SO dails 0y
# Define a ‘finish’ procedure
Proc finish {} {
Global ns tarce file 1 namfile
$ns flush-trace
Close $tracefilel
Close $ namefile

Exec nam out. nam &
Exit O

}
~oo s Bl e lesS,T ygas g finish il 8,90 oyl j0 aS 1) ael 5 G proc aels
ol B A sed pamled coliwl ole e 5l 0 e U 0gd o oolatul global delS” .osles

I, trace leMbl oily oo Simulator WwMS 45 3lee oS flush-tracesce .asloads 23 aelip 5
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s a5 1, trace slehls closepl 4 telygiws wyles oo adss oyl 4 bas e slo Ll &
Wles oo 12l gilwanss csnlie gl |y nam asli,s exec ,giws g sauy oo |, Kloads iy a5
a S0 Ll & 5 puled oo oolatul 121 6l 1) traces nam  gla 1 28l oU Lo a5 0l ax g0
syl exit jgiws (lo 4ol 5l z,)5) canl )5 jgiws So( nam,giws) ol a5 1> |, Ll
a5 Cul Al Cundg )l lalis oS Wb 5 e p |y jao sae g w0 LU 1) (gileas
solie plo izl (258 G lie mo 4l S Gl jho e aleioo pdel s
bolas 51 (sl Cdear iload Gzl BLasils ansS oS Wgdy colitul wilg o
RVIIP
Job ;o olgsds alaxd ;o o ley o at jeiws WS L NS s boslas ;) gainbe; sl y
JLol GRL 5 5,8 Oloy G Ol i cp 0903 JLed ) otel sla Iy, (3luant (b
s 53 Al slagley o b Sl 3 Bse slalS sl (K e
Dl mald sl aisle 5 4t (s3gln e
O B 5 (Sl aie a5 095 o el sl ouel ;0 a5 STygtes Jle olgiea
00,5 @gin 4.5 loj ;0 g wles S8l Ll 4 £4,5 0.5 Loy yo $cbr0 ous
$NS at 0.5 "$cbrO start"
$NS at 4.5 "$cbrO stop"
4z pmled i g pmled (Sle3l8 1) finish el s b Hleggjlwand asly L o
o gl iy 351 0y awils ol Slo;
$ns at 125.0 " finish’
S oo oolaiwl Al VYD a gl jo asliy sy osloe slp
a3l el exit b Stop &l ygiws Cruizmed g 09 oo 5] (oload run Hgws SWS L
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P45 SleSidg (B o F) o gh iy i —Y-Y
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set node_name [$NS node]

LSS sae SO NS g5 ;0 obm! b a0 a0 pU node_name 598 jgiwd jo a5
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- $NS attach_agent node agent

- $NS detach_agent node agent
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o Sy 45, SlS oSt o el S o Sy ge cho ol saims slas Queue-
Wl oo o Sl s 9929 el et Lo o aS o o)l 092

&S o (55l e 0als ool sle dastin L 1) ST ST cewl Sladl 4 0aisS o, Lil : Link-
A5 0 5, |y atas 52 (TTL) (So55 oyl lode a5 cewl Sldl 4 5o Ll : Tl

S oo milo g 1) S o Wl asT el e i 4y 5oLl : Drophead-

Il anw Sbo, Gl Sheo opl jo il ouls oy o5 StraceAllFile oo axils>

3,00 8425 o1 5l zay abamd b Cho 4 04,5 alax
Wy JBANS ol Gy poi sl o Sl jgws

$NS simplex-link nl n2 bw delay q_type

S ysio 05, 0 ;54 N2 g0l 0y g0 o ad,b SO S SO ol Glp ) e
g oo S ) D)gody (398 Hgd
n2 5 nl sleog casms Jlasl S Wb sl 5e - bw-
n2 5 nl slasg saias Jlasl Sid 50 laie : delay-

38 metlys mess o] 8y50 50 yidun lowy a5 i 3L 8 ok o penslSe £95 ¢ _type-

$NS duplex-link nl n2 bw delay g_type

$NS simplex-link-op nl n2 op args

5o Onles pl jo SUd g il ol sledasie B e Glp jeies ol

S5y @ oo lis 1) aSll gilwand 5l Jols mlis ivendl O g0 a7 5515808 ) nam
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50l 05 50 (o Jlo)l GoSCdl 5 @ bgyye sloaasiin plu by Sid 4 Jlo )l slaane,
9950 )154.3 n2

$NS duplex-link-op nl n2 op args

D950, a8 s slaSid (glp aS Solas (pl b il co B jeiws alin

$link cost cost-value

ool sl bl sles 0,8 Giw cl> jo aes 0 )8 cost-value b ol |y ST 55 )] jlade
A

$link cost?

Al s ) S (goae 5l jlade

$link up
Spee Jd Comsg a1 S
$link down
S pee Jud et Sondg @) S
$link up?

A0 oo iwled |y SGL Jed Consg
o2 4 Ll ouisS Jate a5 1) oS Ol o0 el 005 bl o8 paiz a5
20,8 iy S5 ol @]y S sl (o0 Jle e 4 penled sbml anil (o
$ns  duplex-link  $n0 $n2 10Mb 10ms DropTail
izl 5l gl aS ad b g Jlasl 05l ealizasl L $n25$00 slo 0,5 45 esline (s
iy 25 S ligd oo e pi Sillige Sz 2 Gl a4l S Ko Ve )by 4l Lo

simplex &,Le U |, duplex-link & le wb a8, bgs S & gbo a8, S S

el 355 link
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Ol Ml ogys &5 Sod 2l pasu Gl 0 o 4 gl (295 2o NS o
ol 9, (over flow) 5,50 5,90 sl (ol Jyoudoo Sid iy pa309d co (55l o0l ol S
a5 Gl o3 o1 00,5 eldl (9,5 o ,d b b STl Jlio 0550 50 bl oo jub o
G0 el a3 5l g by aJl (DropTail Glxsl g 435 L)oo, oo Bd> gl o0 0)lg
DRR(Deficit FQ(Fair Queueing) ;.5 ¢ RED(Random Early Discard) aile a5l 0929 5
Gaisle) Sog Cuglyl SO Juls a5 CBQ «SFQ(stochastic Fair Queueing)<Round Robin)
.25l s Round-Robin oo, cugl
wealss Jlie olsins pealed iy paS sy Sl o b e pe chio il bl gl Lo atd

IV K
# Set Queue Size Of Link (no-n2) To 20
$ns queue-limit $no $n2 20
(Null Agent) o5 Jole SO 4 ool Bi> sl atwy Jlo)) S5 @ cavp,y yu
a2l o a5 alws ol Glp 1y Ol by el LTTL(Time to Live) b g 0 (5lwooly
il bl gz g ASLE O (i p Jake A a\SQ—l 318 ales o brains Sboy ok 4z wyles o0

0 nl

——={Queue [ Delav H TTIL =

= Agent/Null

Figure 2.1: A simplex link
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5 ge bl 48 oSy (gjlge S 50 5l 4 )b oo S Sy

W S0 s ol ead sols isled py 0 a5y (g el oolw aSll SOl Jlie G laaea

i Sn4
il ]
o 300kbps  J00Kbp
2Mbps 100ms 40m
10mis
//5_112 Sn\
9] Mbos Sﬂ{]kbps S L)
£nl 1[]111}; 100ms : %%1;“11}] 305

Fipgure 2.2: Example of a simple network

el 00l ya5 5 slaaS lyal b 5l Al ol Sielegs

# create six nodes

Set n0 [$ns node]

Set nl [$ns node]

Set n2 [$ns node]

Set n3 [$ns node]

Set n4 [$ns node]

Set n5 [$ns node]

#create links between the nodes

$ns duplex-link $n0 $n2 2Mb 10ms droptail

$ns duplex-link $nl1 $n2 2mb 10ms droptail

$ns simplex-link $n2 $n3 0.3Mb 100ms droptail
$ns simplex-link $n3 $n2 0.3Mb 100ms droptail
$ns duplex-link $n3 $n4 0.5Mb 40ms droptail
$ns duplex-link $n3 $n5 0.5Mb 30ms droptail

#set Queue size of link (n2-n3) to 20
$ns queue-limit $n2 $n3 20
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et Sd) el 00y iy ya5 S Sy a3l o o 48 asl asls ol
Al so Lo 1y 00 ool (i w31 lade ST Lo b Lad jo Bgao (02, 03 slaog ouissS
<S> Queue set limit _50 ,giws ;o ns-default.tcl L6 o oles oo 1) 2,8 Lion lade oyl

Coudd yuodd 9 el 5655 1) 28 iy lade (]
:ns-lib.tcl ;18,5 Queue-limit 4ol ;5 50 ,STan b
Simulator insproc queue — limit {n1 n2 limit}

$self instvar link
[$link_([ $nl1 id ]:[ $n2 id]) queue] set limit_$limil

aS cowol Simulator WM 5l wie G &8l ,o queue limit a5 g oo b bl o
&L‘>)‘ )‘..\.o.o o )BLi O)L.b‘ 9 039l g ..\;Lo.kso gﬁ.’).w ‘) uS.u.] as oa;Y -))‘s) $°9)9 )...01)1..\”
VD9 oo o3l it pie 4y 0als oolo

#setup a TCP connection

Set tcp [new agent/TCP]

$ns attach-agent $n0 $tcp

Set sink [new agent/TCPsink]
$ns attach-agent $n4 $sink
$tep set fid_1

$tcp set packetsize_552

#setup a FTP over TCP connection
Set ftp [new application/FTP]
$ftp attach-agent $tcp

(Agents and Applications) 389 3 JU s 4ol g g b Jols —Y-Y

SB ol So el g3 oeST lasSid 5 beogs 1 JSisie a0l Siglmy (oS 5l o

mlos Jlo)l (s59lsn e QT Gybl 0o ,S sl
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2O |y lafole 5 69,5 sloaalyy conl 0¥ waiie 4 (L2l il Gl

0,5 i |, FTPCSG relyse Lo 09 (ySon aisdS Jlie 5o .oisles solawl (655095 o] 51 6 punled

I, (Constant Bit Rate) CBR g5 3| (65,0,l5 sladsliyy S 50 9 ples 1,21 $04 5 $00 slo

$n0 oo 0,5 s |, TCP g4 5l Jule G b latl 20,05 o0 0,40 UDP 51 CBR a5 cl Jl> o

o pgd OS dxkad 40w g0 dlg eoliiwl o] I FTP e suwsles iy a5 $04 sais 0,5
Sges aplgs soliiwl ] 5l CBR aS pusles oo olow] $05 sabe ¢ $01 los 55 o UDP Jale

#setup a TCP connection

Set tcp [new agent/TCP]

$ns attach-agent $n0 $tcp

Set sink [new agent/TCPsink]

$ns attach-agent $n4 $sink

$tep set fid_1

$tcp set packetsize_552

#setup a FTP over TCP connection

Set ftp [new application/FTP]
$ftp attach-agent $tcp

FTP over TCP —\-Y-Y

el 5 Boas sloaing 3l a5 coul Salus g4 ) slezel LB plosjl S S5, o TCP
aled gm o3bil laaiy 2l s 51 o liobol (sl Suaie Lausgi o s Sy

SlaSid 3529 hog (pl b Sgdgo jad ploojl JUSow plgie 4 i) Cews Sl glaainn

YU oS aeked gl s )5 0g dale> (55,0 I dy b gyaas ils,S 0 gl TCP (gl a8,b oo

:M)‘O

Set tcp [ new Agent/ Tcp ]

'~ Acknowledgement
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aS aed oo TCP Jule 4 |y tep plo So,lal G Jole g9 Lo ogdle jaiws (]

9 &S oo iy ,w |, TCP Jlasl lae 545 $ns attach —agent $n0 $tep jgiws ailb o NS o Lo
ply s 5o Lil 5 0uS oo @y 25 |) TCP wuate o4 L3, Set Sink [new agent/Tcp Sink] g
b gyoas adgi [0 |y coge S duate 098 TCP jo ail atils bl .&ils )8 o p ol 1, Sink

WS oo ol daie 4y o) (o baaiies den 0,5 el jghaiedy baain Jgog ¢ pdlely

#setup a UDP connection
Set upd [new agent/UDP]
$ns attach-agent $nl $udp
Set null [new agent/UDP]
$ns attach-agent $n5 $null
$ns connect $udp $null
$udp set fid_2

#setup a CBR over UDP connection

Set cbr [new application /traffic/CBR]

$cbr attach-agent $udp

$cbr set packetsize _1000

$cbr set rate _0.01Mb

$cbr set random_false

$ns  jgiws g wled oo iy | wade 0,5 $ns attach — agent $n4 $sink g

s ol b TCP.wles o ol 1) duato g lows ooy o TCP Jlas! connect $tcp $sink

oS |y Qlﬂ Alg o raoy 4 alesn ST aS o,ls ouls SB,laie B8 i polie Lo ool

Sade 4 Wlgh oo g el Sl Voo e Jlaae TCP 0w ojlail (68 yin jlade Jlie (gl y aumo
A2 oo &, Step set packet size _552 jgiws b slasl ol b s ol OOY M (6,50

2 s R nled OUT Gl melyzey ol (Sas ols (S35 Gy naiz Lo (B

S5 aS $tep set fid _1 jgws ! o,k 5l g bl samline jo Sglae oS, b Jlie ylgxe

@ las ool ;o aS o4l dad 0 iy e plol wsled o Caand TCP Jlasl a5 1, V)L > alils
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638 asl s s iy 23 TCP Jlasl aS5T 51 ey s ol |, Y asliss UDP ol >

Dgbn plonl 398 o5 ashd olil b aw )3 oo (nl g 098 (o0 iy Ol (59, FTP

s, So il Gl FTP (60,5 asby 9 TCP Jole g0 ;0 a5 ail aiils ,bls 4

:CBR Over UDP -Y-Y-Y

5 (Agent/ UDP) lags ;0 UDP 5 o1 (g5, » CBR (63,5l asli sy 5 UDP Jlasl iy ys5 51 e

09.»»‘50 g.o.s).u w08 TCP Lg‘)J as 6‘°5"""’ de"’ (Agent/Null) ‘5?‘4 . &

#setup a UDP connection
Set upd [new agent/UDP]
$ns attach-agent $nl Sudp
Set null [new agent/UDP]
$ns attach-agent $n5 $null
$ns connect $udp $null
$udp set fid_2

#setup a CBR over UDP connection
Set cbr [new application /traffic/CBR]
$cbr attach-agent $Sudp

$cbr set packetsize _1000

$cbr set rate _0.01Mb
$cbr set random_false

SOl Lol &5 iy a3 SsS> 558 oS askid wylai e oolit] CDP ;i a5 CBR sl
S50 ol $cbr Set rate_0.01 jgiws ;o Jlo,l #5 <05 slow a0 so oyl |y auy o5l 3.5 4
Sl ooliinl b ais Jlo)) i | Sl alold 50,5 oy 3

$cbr Set interval_0.005

' Interval
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S vz p o a5 b e random_ e § 405 CBR Gliogas ple jl sl oo
O ygo 4 dib oo Sl Lol ploy e o Bolai Cusll 89y pac b dgzg 0,5 Laki

95 L ailgs e g alilgo Jlad g a5 cpl (08 i
$cbr Set random_1

Heiod b g ladis o3lasl 00,5 Jled

$cbr Set pachet size _<size>

39 (ol a)padas Wlgs o
: UDP with other traffic sources—Y'-¥-Y
Sl epls wlei go oolitul UDP US55 51 a5 (63,08 slaSldls plo b ol (e
o0 plxl
g0 ftrace L8, e aiwe g pareto on-off , Exponential on-off SC8ly5 s

Wed g0y py IS8 4 ol 5 a4 Jol ace

Set source [new Application /Traffic Exponential
Set source [new Application /Traffic pareto]

aS burst_time_ . packet size(Col a)) aiws olail yaomen ol yiol)b  S815 aslio oyl
Sol,b S pareto e ,0 S co 28l 1y wles oo Latuin |y g Jled g on" e awgie

i les oo ala>do |, pareto on/off G 51 Jlo 535 )0 9 piS o0 iy 25 55 |y shap_ oo S

Set source[new application/traffic/pareto]
$source set packetsize_500

$source set burst_time_200ms

$source set idle_time_400ms

$source set rate_ 100k

$source set shape_1.5

Iy trace b8 G ol iogd oo cypai ) O jgo s trace e S35 (60,05 4ol
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Set tracefile[new trace file]
$trace file file name <file >

Set src [new Application / Traffic/Trace ]
$src attach —tracefile $ tracefile
ol Cob a aug ojlul g by Jlo)l Sbey alold ol 3L jaue 18
2 Gwilo ol g ;—F-Y
oS Sgd oo iy ya (5 lwdd S e bl o oo Sl oz slaolygy g jlwanls SONS
Sbml slag, wisley S Set ns [new Simulator] olal jgiws aies F, &8ss ax ook,
Bl ealial b )T 5l ey olayg; g led e

$ns at <time> <event>

A8 o, el $ns run jgiws Gk jins ol ley 5o disle) Wgh e (gosle;
Gk 5l Wl o (ol 5 pmles soisle; |, CBR 5 FTP assls 4 IS5 5l wb do ooles Jlie o

355 plasl 3 (slo,sis

$ns at 0.1 "$clor start"
$ns at 1.0 "$ftp start"
$ns at 124.0 "$ftp stop"
$ns at 124.5 "$clor stop"

JL YD b - glaasli 5 CBR wily oo JW8 VYF B) s o3k ,o FTP ol

YRRV PEI WU S | DV | ESO

exl.tclols LB jo Lo &ljgiws 511 oilodns don a5 piwn oolel 55T o0 Lo

S o0 b G?oua.g\ﬁl &l ail ouds aligl
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ns exl.tcl
So a5 Cwwloas a8lsl ALL o 6,50 dalippy opy oS dshad o aS alil asdls ol @

5 g oo 4l OV Sloy Jolgd ;o TCP Jluyl o ,0xy ojluil glabasd polio Ly 29, L1

397 4l B ) jo 0 a5 Cunl oSl ggd 5l asliy g ol adl o winfile >g,5 LB sL Jle

O 3 29 Ol 4 sl Lo &S (L 5 TCP ge el S0 o1 S e g8

Boled oo <8l )0 ) o g

Set tim#set queue size of link (n-n3)to 20
$ns queue —limit $n2 $n3 20

Setup a TCP connection

Set tcp [new agent/TCP]

$ns attach-agent $n0 $tcp

Set sink [new agent/TCPS ink]

$ns attach-agent $n4 $sink

$tep set fid_ 1

$tcp set packetsize _ 552

#setup a FTP over TCPconnection
Set ftp [new application /FTP]
$ftp attach —agent $tcp

#setup a UDPconnection
Set udp [new agent/UDP]
$ns attach-agent $n5 $null
$ns connect $udp $null
$udp set fid_2

#setup a CBRover UDP connection
Set cbr [new application /traffic/CBR]
$cbr attach-agent $udp

$cbr set packetsize_ 1000

$cbr set rate_0.01Mb

$cbr set random_false

$ns at 0.1 “$cbr start”
$ns at 1.0 “$ftp start”
$ns at 124.0 “S$ftp stop”
$ns at 124.5 “Scbr stop”

#procedure for plotting window size.gets as arguments the name
# of the tcp source nodded (called “tcp source “)and of output file.
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Proc plotwindow {tcpsource file} {

Global ns €0.1

Set now [$ns now]

Set cwnd [$tcpsource set cwnd_]

Puts $file “$now $cwnd”

$ns at {exper $Snow+$time] “platwindow $tcp source $file”

}
$n at 0.1 “plotwindow $tcp $winfile”

$ns at 125.0 “finish”
$ns run

:nam jf oolwi-3-Y
oimlei 1y 0,5 7 Jold it G il oo oaalie L3l aS nam (poled oo a1, L3 Jle Lo 234
Oogo d ) e S S aSST (gl 0gs bl Solas jeb b &ilgs co oo )5 | a0ul Jore 020 o
oled (B3)lde pj g

Sn4

300kbps  S00Kbpy”
1{,1[]1115i T 40m

1#4&##H,,,,:?’§ﬁz Sﬁ?\sﬁg\\P
) IMbos 300kbps

= : g % )
spl L []1111.}3 100ms : g%ll-ﬂ}%n 5

$n0

Figure 2.2: Example of a simple network

# Give node position (for NAM)

$ns duplex-link-op $n0 $n2 orient right-up
$ns duplex-link-op $n1 $n2 orient right-up
$ns simplex-link-op $n2 $n3 orient right

$ns simplex-link-op $n2 $n3 orient right

$ns duplex-link-op $n3 $n4 orient right-up
$ns duplex-link-op $n3 $n5 orient right-down



www.NetSimulate.net

AoSs 08 b ails ise culs) g 0sd bl Bolal &jgo 4 oS sl 3145

Ol oo Crized dwmloslo 1) 095 Cdu il oo S Solad )l Eu] S bl b re- layouf”
(mge gy olgds 8o 4 () (g2 5 0,5 o a.sS 5 Bdit/view 50 SIS L1 Lee S )5
) 555 31 45 1, CBR slaaiuy S oxie & g0 4 naM Sinles a5 walai o (5510 05ei pulais
oiled ol Sy 4l gy 0 ¥ v o) 5l aS 1, TCP sladins § 508 ) 4 gy o0 b @
2l S5, 4 50 Anlems oo |y TCP (glodis St oo & TCP Joog plel slodio ans o
oS Jo 0 aiin b Fe 5o slodiug 4 Lz 8258 Lo olasl b Lol wigd o ol iled
iy 3 e asiyy 05 £a,,0 s, Slaits gl il e ol 0OY TCP (sloat

oS 5

$ns color 1 Blue
$ns color 2 Red

Sy s jgemme el alilo nam LB SO el Lo ST ol ails bl 4
nam <nam L, ab > 5ts Laiis 5] s 4 palss oo a5l mualos 21 1) s Log3) T sumline
el a1

399 ol LB S by b s Sle S gt Wiy nam Siuled 16,08 oo S
A3l 38w wiles o File 4y 38 0 gnam oYL (5900 jo |y Jos oy
tNAM s snwilg ) (> 9

by pdlg> 09l oold yioled 30,8 S5, 0 N0 edles ST Jls laie as: oo 5 0 5 K,

$n0 color red

'~ Snap shot
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u_a.Lm Jli,..:‘ 4 ‘)“‘"‘9’6‘ Lol o LS‘ oﬁb ‘L(ao)f ua).e O Oy A :L(ao)f J&w

slbox i sl> 4 b9 $nl shape box g b oles co Jlo olgie a4y igd ools yioles

0% 89S slpcircle b g gy sl 4 2lo # (5ly hexagon
S (0,5 K, ©

$ns duplex-link-op $n0 $n2 color "green"
Sloy 10 Mie) sy ceadle 1) 0,5 o pols o) 48 puslyi oo reedle (0,5 Bl g 48,5 a8l

Sze (pealos oo Jled oy T o 1y (Sedl ae Sy a5

$ns at 2.0" $n3 add-mark m3 blue box "
$ ns at 30.0 " $n3 delete-mark m3"

Sg ol [2,30] Sloj alols ;0 ¥ o 5 Bl bl K5, ol cudle 098 oo cacl ]
"active Mo canzp SO L a4 by Sl wilei o 0,5 S iz 0,5 adlal
el ez e Lo VY ey sl Sléce 34 ools ioles node”
n0-n2 ) « "Tep Input Link" b 85 cawz 2 109 $ns at 1.2 "$n3 label \"active node\"
$ns duplex —link —op $n0 $n2 label "Tcp input link "
ol ogl el wle by jo e SO Wl oo NAM 0 ey LL 50 i0yie (0,5 adls]
rJle il ley ol 5o ols Slasg,y saiS aiog Wilgs o yie
$ns at 5 $ns trace-annotate $n2 \"packet drop\"
oz Jlo lp aib oo casojlail jaisle G o,S aslsl mam I Ko Sl S
:M)L) n2-n3 &i»_».] &°9)9 o OQ;OAELMA 9 )9.“4[.0

$ns simplex - link — op $n2 $n3 queuepos 0.5
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Figure 2.3: NAM graphic interface

LB g0 2 as Wl OL?LA‘TU’&M‘ 9 Spead SS9 ;o a4 |y Trace slo 118 wilgs oo NS slua s
58S bzl emles oo eoliiul tracing 51 oBs .aiil oo aSs j0 eolas; slaolayg, » Euate

25 peal ;0 aS S o a6 b T lxol jo meoged sdsline S SO LSl 5l LS sl

= olayg, cud

% ascii

: Tracing object—\—#-Y

DrpT ,RecT,DeqT, EnqT :os o

: Tracing'—#-Y
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—=> EnqT EﬂlrQueue = DeqT = Delay = TIL =r>| RewT

DpT [ AgentNull |

Figure 2.4: Tracing objects in a simplex link
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oleMb DeqT .wles oo <o DeqT oo 1) aas ol Sledbl 598 (52, ) Overflow l>o o
G oS oleai o)y |, JSldbl RecvT colys jo wled oo <l |y a0 09250 sloaing
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Figure 2.5: Fields appearing in a trace
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+0.1 12 cbr 1000 ------ 21.05.000
-0.112cbr1000 ------ 21.05.000
R 0.114 1 2 cbr 1000 ------ 21.05000



+0.114 2 3 cbr 1000
- 0.114 2 3 cbr 1000

R 0.240667 2 3 cbr 1000
+0.240667 3 5 cbr 1000
- 0.240667 3 5 cbr 1000
R 0.240667 3 5 cbr 1000

+0.9 12cbr 1000
- 0.9 12 cbr 1000
R 09141 2 cbr 1000

+ 0.914 2 3 cbr 1000
- 0914 2 3cbr 1000

+1 02 tcp 40
-102 tp 40
R 1.01016 0 2 tcp 40
+1.01016 2 3tcp 40
- 1.01016 2 3tcp 40

R 1.040667 2 3 cbr 1000

+ 1.040667 35 cbr 10
- 1.040667 3 Scbr 1

R 1.086667 3 5 cbr 1000

R 1.111227 2 3 tcp 40
+1.111227 3 4 tcp 40
- 1.111227 3 4 tcp 40
R 1.151867 3 4 tcp 40
+1.251867 4 3 ack 40
- 1.251867 4 3 ack 40
+1.251867 4 3 ack 40
- 1.251867 4 3 ack 40
R 1.292507 4 3 ack 40
+1.292507 3 2 ack 40
- 1.292507 3 2 ack 40
R 1.393573 3 2 ack 40
+1.393573 2 0 ack 40
- 1.393573 2 0 ack 40
R 1.403733 2 0 ack 40

+ 1.403733 02 tcp 552
- 1.403733 0 2 tcp 552
+ 1.403733 0 2 tcp 552
- 1.405941 0 2 tcp 552
R 1.415941 0 2 tcp 552
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2 105.000
21.0 5.000
21.05.000
21.05.000
21.05.000
21.05.000
21.05011
2105011
2105011
2105011
2105011
10.04.002
10.04.002
10.04.002
10.04.002
10.04.002
21050 11
21050 11
21050 11
2105011
10.04.002
10.04.002
10.04.002
10.04.002
1400003
14.00.003
1400003
14.00.003
1400003
14.00.003
14.00003
14.00.003
14.00003
14.00.003
14.00003
1004014
10.04.014
1004025
10.04.025
1004014

00
000
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sl gy ) sl A8 g0mm0 39 (30 5 Trace —¥—F—Y
209 48,5 i o 1) euds (gilwand laslag; ads o Sed (S (95 g (LS isu o

25w 58,5 S0l oly gl enes e Bl ol 5l 25 S oS Glp ooly HesS]

2 IS8 4 Jle olaie 4 aS ail oo $ns trace —queue giws b $ns trace-all< LB oL >

ged b ol o0
$ ns trace —queue $n2 $n3 $filel

S5y Sl 2lolig) L Jold o5 wil o trace g4 5l (295 RE S ol s &S
Sewd G (g 00,5 Gy ped (LS e o |y beog cpl) caslools 7, 02,03 slasg o S

aJl sl trace — queue sl nam — trace queue | oolawl L nam trace !y Wl oo aslie

Gk 5l bolagg, 0,5 ild (] uzen 2gd adly ST (x5l s WL trace- queue
3,08 3929 3 UNIX Jole it Sl jgiws 5l oslatwl b g tCl slaas

#set queue size of link (n-n3)to 20
$ns queue —limit $n2 $n3 20
Setup a TCP connection

Set tcp [new agent/TCP]

$ns attach-agent $n0 $tcp

Set sink [new agent/TCPS ink]
$ns attach-agent $n4 $sink

$tep set fid_ 1

$tcp set packetsize _ 552

#setup a FTP over TCPconnection
Set ftp [new application /FTP]
$ftp attach —agent $tcp

#setup a UDPconnection
Set udp [new agent/UDP]
$ns attach-agent $n5 $null
$ns connect $udp $null
$udp set fid_2

#setup a CBRover UDP connection
Set cbr [new application /traffic/CBR]
$cbr attach-agent $udp
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$cbr set packetsize_ 1000
$cbr set rate_0.01Mb
$cbr set random_false

$ns at 0.1 “$cbr start”
$ns at 1.0 “$ftp start”
$ns at 124.0 “S$ftp stop”
$ns at 124.5 “$cbr stop”

#procedure for plotting window size.gets as arguments the name
# of the tcp source nodded (called “tcp source “)and of output file.
Proc plotwindow {tcpsource file} {

Global ns

Set time0.1

Set now [$ns now]

Set cwnd [$tepsource set cwnd_]

Puts $file “$now $cwnd”

$ns at {exper $Snow+$time] “platwindow $tcp source $file”

}
$n at 0.1 “plotwindow $tcp $winfile”

$ns at 125.0 “finish”
$ns run

NS 9 gilwdems Jbo Wi @
Ny b o Sl B S 0 NS s gloacd sloael ol 48 55 33 a5 jsbolen

294 g0 ooliil )y y5mwd 5l T (g2 (sl s 5 2igds o 4ty e
NS <tclscript>
9 Ols5ce sl ol 03,51 path s 5,1y 13 Ll telseript 6 a8 (6 e s wyly 4l
SoSe 1y alygiws tel shell lase 0wy telseript bl ,o 1) (o5lodncds &l jgiws a5
g5 Jle wiz S5 @ 2l 51851 (A (nl jo adliged armlie (g Gl () 45 gl 8l
R S 2 0 Ses oy

AY b
5 LS dasgs ol 4ot (s3gls 5 bl g 4y ool g ooles (e jobay Sl )

‘—Q.J)‘Q)JLSA nam ,s Q‘ o lie 9 [ QQBAJ JyveRyos 597;3
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9 g0 plxil 5 O)jgos el (pl aS bl ge (g5luand jlobject S slml (o oyl
set NS [new Simulator]
2 ol sl esliinl 5 cho o503 Lo, 5 ilwans 3l ol mls gilwepnsd 5 Cud Cu

S oo 3k pj O ysod out.nam s mam

set nf [open out.nam w]|
$NS namtrace-all $nf

Solil g 0si 0 5L (gilwand Oledbl i Cys outnam LB (598 Oljgiws b glao

L 5975 4 a5 (leand ooty pled (gjlwands Bow ,0 g Wb oo elaxs! ol 4 nf LB

g g0 0, Bl o ail co aislg nam

Silwands plasl ain oS gl oo obxl finish sb a4 LG Jlg, S gom d>ye o

idlbioe 55 Sygotr 38 gy 09bios 2l Jlgy ool 50 09290 Sl jginns

proc finish()

{
global NS nf

NS flush-trace

close $nf

exec nam out.nam &
exit 0

}

Golwands slroosls ples 0g co el a5 048 o Lzl 598 Iy, (g 5lwands anils alax] o

o 399 B L 5 00 0,053 il o nf S0 lil 6lyls a5 out.nam 8 0 nam 4 by e

g 0 albgs out.nam J o 4 giluacd mls g 05 oo > nam 1 JLos 4 5 958 e
D gn 00l lid e O g0

BB 55 Oygod g AL Hiws SeS L sl 0als 00,9l YU o oS finish Iy, sl>l b,

$NS at 5.0 "finish"



www.NetSimulate.net

25,5 1,515.0 ol yo finish Jlg, a5 04 o crgo (398 95w
0,5 oolaiwl pj w3l ol gilwacds gll glp cales yo

$NS run

slowl gl telscript 15 ,a saims oS5 Lol (slacoand wyo,S S5 YL o o5 Jlas

OMele dasgs bums Jlail e daogs : Jold 4 (55l sbml Cuz ablge (glwas

(553 o gind 45 el g 45 w5 0lital NS ol &l jgis 3 b daog bl sl g Lo
Sgd 03,9l fiNish Jly, ciesgs 5l oas g SNS at 5.0 "finish" jgiws 51 L3

Slygiss Shal 500 slapl 4y 05 5o Jolds 4l 390355 G obml gl Jle (lycay

09.“."59 ooliw |).>)

set n0 [$NS node]
set nl [$NS node]

e 10 ;55 AMD/S sy b ad,l o5 Sid 3,k 51 K00S0 4 358 095 90 Jlasl g
139 g0 o0liwl 3 H9tws 3 FIFO g4 51 30 9 4l

$NS duplex-link $n0 $nl 1Mb 10ms DropTail

#Create a simulator object
set NS [new Simulator]

#Open the nam trace file
set nf [open out.nam w]
$NS namtrace-all $nf

#Define a 'finish' procedure
proc finish {} {
global NS nf
$NS flush-trace
#Close the trace file
close $nf
#Execute nam on the trace file
exec nam out.nam &
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exit 0

}

#Create two nodes
set n0 [$NS node]
set nl [$NS node]

#Create a duplex link between the nodes
$NS duplex-link $n0 $n1 1Mb 10ms DropTail

#Call the finish procedure after 5 seconds of simulation time
$NS at 5.0 "finish"

#Run the simulation
$NS run

L Blao 29,5 peil Xwindows 315 Lo [0 axili> (398 Jle lyz! 51 o

A dolg> saslice jeiige dxas (g9, 0 V- IS

©

@

nam lae (0 VYl 29,5 :(V-)) IS

AF
Ao Jale K0S 4 S S SS 4 g way0 )5 ol Al 058 90 e (L8 eoles Jle o
Dlele wb ol wools Jloyl sl 20,55 Jlol 5 oloml baogs o sl ools aigSgmd 358 Jlio 4o

e BB Jle JooSS 4 Jlo (pl 53 230 5 e a5l sladgs 4y 5 Wigd iy o8 el

199, (0 G5 Olygiws a8l slaog a QT Jlail g Jlo )l Jele obw! coe

set cbr0 [new Agent/CBR]
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$NS attach-agent $n0 S$cbr0
$cbr0 set packetSize 500
$cbr0 set interval 0.005

Dg oo el faio N00g5 a4y a5 ¢br0 oL L CBR S8l 5 ave G ol Gaels (599 Ol jgiws
O+ b plp sy (interval)le aiws o b alols ¢ (packetSize) atws Job dasin

ool 00ld |13 (4l jo ate Yo v Cae o Jolae ) 456 0.005 4 ol
of Jlasl g oS o Jas Sl ouisS il o oS 4o aSnull0 ab a4 Null ole oS byl cg

YRR FYO EVSRCH ECORRS | | BRYSW

set null0 [new Agent/Null]
$NS attach-agent $nl $null0

p) Sogods L8l 008 18 ele g0 cpl o Jlasl Wb sl o 5 Jle )l cdele slul 5l as
g g0 el

$NS connect $cbr0 $null0

b g oo osliial Al jyiws 5l (S35 wlie Jlojl (bl g )B4 g9y8 ploy s S

2 5.0L W3 a5 s3loans bl oloj 51 3 b (Sl e Syl bl olej 45 and

L 5 o 5 CDIO (S35 e bl 5 g5, ol o5 Slygins A8l o5 o a3 ,5 L

a2 oo )38 4.5 3 0.5

$NS at 0.5 "cbrO start"
$NS at 4.5 "cbrO stop"

Shgo ) 50 el JL3 |y play oS asslis 0sd o ol nam oo (358 Jlo gl 5l o
Oy duake 4 G’;Lc)Lb\ slaws Jlo)l 4 Eg n0 3¢5 (5 jlwdunds )'LéT 3l sl p CldS 5l o

Aol g Cugy BB (Y-)) S84 & jsedas nam o 45 oS onl
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/ Job
\E Ja

OLag
N0 s

Slr po 09 Gk 5l 4GS 098 90 &S (S o0 S50 398 e b At So e f o

o 055 oSl i Lanits g ojlolaz o5z iyl 5o it o Jlus,| ools a5 393 panylez

5in3 502 nl 0 Glapl 4 05 ez sl lp Mol 055 alss oy |, Souss 5l 598
oS oo oolaiul 55 Dl ygis

$NS node]

$NS node]

$NS node]
$NS node]

set n0
set nl
set n2
set n3

1 ——

sled (oo LN ) 55 Sl jgiws (Sid alwl 5 K00Ss 4 598 lasg Jlail cqx

$NS duplex-link $n0 $n2 1Mb 10ms DropTail
$NS duplex-link $n1 $n2 1Mb 10ms DropTail
$NS duplex-link $n3 $n2 1Mb 10ms DropTail

o Vo 3l AMB/S G shls a5t sl 395 s Jlasl bS] aled s 5

139 g0 o8laiwl j ) Hetws dwnam (o Al (S5eler el JSU anlio pulals

$NS duplex-link-op $n0 $n2 orient right-down

$NS duplex-link-op $nl $n2 orient right-up

$NS duplex-link-op $n2 $n3 orient right

(YN USs Ojpon o] Jlail o] 5 oSl Ghgdmss (352 Dlygiwd sl 5l am

A asle> ool yislei nam
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Q JIJ"’l"@}J"(‘“_\)Jgj'
V0 Jia

Slogs 4 g Wgd ciu yui (S5 wlie b doil baias Jlasl e § 4t slaogs sl 5l o
(oS oo e Null g4 51 005 .5 Jole SO izmen a0l Jlas! (0l 5 00 slaog ) coiw 3

Al ge 005 S 05> )0 5 wlige Jlailn3 o5 4y a5

set cbr0 [new Agent/CBR]

$NS attach-agent $n0 $cbr0

$cbr0 set packetSize_ 500

$cbr0 set interval_ 0.005

set cbrl [new Agent/CBR]

$NS attach-agent $nl Scbrl

$cbrl set packetSize_ 500

$cbrl set interval_ 0.005

set null0 [new Agent/Null]
$NS attach-agent $n3 $null0

4 g Wloads olowl cbrl g cbr0 slasl 4y CBR (G815 ace Jule 90 (598 Olygiws o
g <ol 000 b oply ans Job slylo cbrl 5 cbr0  SCaly5 ale wladl, Jlasi nl g n0 (slaogs
5 Cawloals slwl nUll0 pb 4 Null ol G pizmo aidil oo 4l jo an Yoo Jlo)l ceyu
el a8l Jlasin3 oy 4

D9 oo odliiwl 3 ljgiws null0 céb ,o Jule 4y cbrl g cbr0  Sily alie Jlail cg> Jl>

$NS connect $cbr0 $null0
$NS connect $cbrl $nullO
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s el )l asls log iomen g (S8l il [ £9,00 Lo nd sl (0S]

139 o0 o0laiwl 5 O jg0d AL

$NS at 0.5 "$cbrO start"
$NS at 1.0 "$cbrl start"
$NS at 4.0 "$cbrl stop"
$NS at 4.5 "$cbr0 stop”

€955 1.0 5 0.5 slagley ;5 a5 @y cbrl 5 ebr0 (315 mlie (398 Ol jgims @y a2 b
g oo BBgie 4.5 94.0 slagyloy ;o 5 00ls yoliw 3 4

5 JWol F5 a8 09l o adeine €brl 5 cbr0 S8l alie S8l Slaseive 4 axg5 L
L6 MDIS by G55 (Sail qolio JLo)| &5 ggama calpliy soilyos 0.8 MB/S L il 5,
Sl cpl by cwl s (1 Mb/S ) n3 4y n2 G Joow B cod,b 5l lade cpl a5 il oo
D oddlice N2 045 10 ddinwy Bl ( S 3l aw a5 o )lo

Ol sl aasie 5 KaSy lebrl g cbr0 mlie (S35 Sl > nled 9 cunlive ol

oS oo ool 5 O ygods Sglae (fid)

$cbr0 set fid_ 1
$cbrl set fid_ 2

sols oylis nam o glate slacs, L cbrl g cbr0 SCdls bl ,> a5l slp cuien

2o Lo o0 aslsl 3l gilwas delip Jol jo 1y 55 Ol jgws w0l

$NS color 1 Blue
$NS color 2 Red

b S0sSs 5l 5e8 5 @l G, bcbrl 5 ebr0 glio (S35 slaglyz iy noy
3,5 auply> caslionam yo l, (F-V) K& Gillae 29,5 398 asliy (gl )z 3 dmy Xl oo

$NS duplex-link-op $n2 $n3 queuePos 0.5
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/ V0aly oSS Jlte
e et 3 ol g s (0-1) JKs
V0 il JoSS i

iy, m20¢5 ,8L o «cbrl 5 cbr0 SCél s mlo slaaiug BOWI ol o cdlae Lass> 5l

PeedSes et p) et N3 502 sl o e S
$NS duplex-link $n3 $n2 1Mb 10ms SFQ
aS g oo oolatwl N3 4 N2 o 4 bg e ao 10 SFQ suincho puilSo 5l Oyge ol o

2,5 @l n2 sg5 5l o cbrl g cbr0 mlis (Kbl sloaing golas jobas b 59 o cesly

el 0ad o8ls lzs (F-)) S 0 cdls opl jo 3l e 9,5
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N

10 4l JuoSs Jlo 5l Jols (g5 (P-)) S

A UOLCTR R VWP I § g | Y
Jie 5o e NS 5o (Seols (olyme 9550 0 Jlo S (o) 2 & Sond (2l o
Ol Sad 51 (Ko 0 cdge (ol SO G g 0l 929 (B2 (Sl b 4t G a5
bso om0l s (( Sealsd ol e oS L s 9 000 25290
130 )5 oo ooliwl 5 Sl jgiws @Sl 0gi Cdn dloul (gl Tu!
for {seti0} {$i< 7} {incri} {

set n($1) [$NS node]
}

ooy oaims Jlasl LS sbml slp disgh oo 033 n() wlyl jo 598 4l slaogs

Wy )54 ) by g

for {seti0} {$i< 7} {incri} {
$NS duplex-link $n($i) $n([expr ($i+1)%7]) IMb 10ms DropTail
}
g9 3l 3L g asl Lo Vo o3b AMB/S co o b sleSed b 4t sloogs plod cus 5 o

QS o Sl | (V=) S8 & j50a 552 s3elsns5 o g Wi o0 Jaie ;S00S; 4 FIFO
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35,5 oo 3l n(0) 05 ;0 cbr0 sb L CBR Sidlp aie SO ) Ol jgiws S 4 >

Jlol sledole prwg 2T oo 99390 n(3) 0g5 ,o null0 oL & Null g4 5 8L ,0 Jule pizmen

39,854 89,505 by ,ocbr0 S8l5 a0 )5 o Jain ;50055 4 null0 cék ,0 4 cbr0
205 o0 ABgedS g

set cbrO [new Agent/CBR]

$NS attach-agent $n(0) $cbr0

$cbr0 set packetSize_ 500

$cbr0 set interval_ 0.005

set null0 [new Agent/Null]
$NS attach-agent $n(3) $null0

$NS connect $cbr0 $null0

$NS at 0.5 “$cbrO start”
$NS at 4.5 “$cbr0 stop”

@09l ol e 4l SO Bow gl m(2) 9n(1) slasg o lawly S a5 oS o8 >

$NS rtmodel-at 1.0 down $n(1) $n(2)
$NS rtmodel-at 2.0 up $n(1) $n(2)
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$NS rtproto DV

osolawl (Distance Vector, DV) alold o, Swolios ol s 00,651 51 Jle ol jo

sl 0g o (Jlojl 80l slaainy 5 ogdle a5 09l o 00y (Jle 8,Lgs slya! 5l am sl
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Sl 00l 00ls lis 3l el glwacss 5 Jol>
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51 S Xgraph e5ls ;oo Xgraph sl (>s5,5 BB olxl 3956 gy 4 Jle (ol 5o
S gilwans 3l Jol> bt (S31,S v,y sl a5 il oo NS luans oauns LS glio!
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139 g0 o0laiul

set n0 [$NS node]
set nl [$NS node]
set n2 [$NS node]
set n3 [$NS node]
set n4 [$NS node]
$NS duplex-link $n0 $n3 1Mb 100ms DropTail
$NS duplex-link $n1 $n3 1Mb 100ms DropTail

$NS duplex-link $n2 $n3 1Mb 100ms DropTail
$NS duplex-link $n3 $n4 1Mb 100ms DropTail
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L aslls slo 0g5 048 0 0! 04 g n3,02,n1,00 ol 4y 065 O L aSiils SO ol i
odls ain ;508G 4 FIFO g4 51 8L g a gl Lo Voo PL“‘IMb/scﬁc,wleLgLe‘i;,l;iJ

bl (Vo=)) US55 O j900 a5t (Shalnngs 5

WY e 4Kt (550595 3() = V) IS

») &,9e4 attach-expoo-traffic Jlg, n2 ¢ nlm0 slasg 4 S8l5 bl Jlasl sl
proc attach-expoo-traffic { node sink size burst idle rate } {

#Get an iNStance of the simulator

set NS [Simulator iNStance]

#Create a UDP agent and attach it to the node
set source [new Agent/CBR/UDP]

$NS attach-agent $node $source

#Create an Expoo traffic agent and set its configuration parameters
set traffic [new Traffic/Expoo]

$traffic set packet-size $size

$traffic set burst-time $burst

$traffic set idle-time $idle

$traffic set rate $rate

#Attach the traffic agent to the traffic source
$source attach-traffic $traffic

#Connect the source and the sink

$NS connect $source $sink

return $source
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sledaiiv) ole SBI5 aie OoSw g il (g Jsb (xSSle (siZe (5999 dastiv)
(rate 99,9 aasin) S8l 5 aue Jlu)l &5 ¢ (idle g burst go4,4
node sg5 4 9 35,5 o olowl source pb L g UDP g4 5l Jlo)l Jule G ol (399 Jlg, o
Job slraasin 5 090 o0 iy ,as traffic sl L ol S8l5 ave G s 098 o0 Jaio
idle g burst size b plp s @ lidle asb Job (ouS5lae ¢ burst asb b oKl cinn
Jlo)l dele e 9 b oo Jlasl source Jlo,l Jole s traffic S8l5 ace 0,5 o0 I3

Al oo aeil> Jlg, ¢ a8l Jlasisink csl o Jole 4y source

139 oo ol 5 &l jgiws 3l 5ed Jlg, 5l el 1y

set sinkO [new Agent/L.ossMonitor]

set sink1 [new Agent/LossMonitor]

set sink2 [new Agent/L.ossMonitor]

$NS attach-agent $n4 $sinkO

$NS attach-agent $n4 $sink1

$NS attach-agent $n4 $sink2

set source( [attach-expoo-traffic $n0 $sink0 200 2s 1s 100k]

set sourcel [attach-expoo-traffic $nl1 $sink1 200 2s 1s 200k]
set source?2 [attach-expoo-traffic $n2 $sink2 200 2s 1s 300k]

slow| sink2 4 sinkl sik0 slapl L g LossMonitor gg 51 <ol o Jole aw cod 5 o

Jole aus attach-expoo-traffic  Jly, oS L izmon Ailowss 3 Jaie N4 59 45 ds 2 g Slonds
a o olwl n2 5 nln0 slasgs ;o source2 4 sourcel source0 el L UDP Lo
02,91 W o o Gloaasin b5 o g5 5| (Sl goie S 1G58 ol ol S0

o cqio)f uLos Sl 00U
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Cwloas oolaiul LossMonitor cél o Jole 31 Jle ol o 04 oo oanlice a5 jsb\lon
(ol oY Al Gl anlxe o a5 1, 8L sl Col e a5 Conl HoB cdl e Jele oyl
WS (5 ,10dK

Olygiwol out2.try outl.tr outO.tr slapl L LB aw gilwacs soosls gilw opzd iy

Ngdso 5L 2)

set fO [open outO.tr w]
set f1 [open outl.tr w]
set f2 [open out2.tr w]

ooy isles gl xgraph el p oo 9 Wgad s Wb 598 L1 aw ((gluad ails sl

139 oo o3l 5 & jg0d finish Jlg) 5l jebate oy 00 5 12l g3l § fol>

proc finish {} {
global fO f1 2

#Close the output files
close $f0
close $f1
close $f2

#Call xgraph to display the results
exec xgraph out0.tr outl.tr out2.tr -geometry 800x400 &
exit 0

}
)914’.2.@ R rg.:)‘o);sn ‘6?9)5 QSLQ’J"LQ o ools 6)L..: o).f.}f) 0970 gwyp A Caomnd u.:\ o

190 )5 oo iy, 5 g0 Tecord g,

proc record {} {

global sinkO sink1 sink2 O f1 {2
#Get an iNStance of the simulator
set NS [Simulator iNStance]
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#Set the time after which the procedure should be called again
set time 0.5

#How many bytes have been received by the traffic sinks?
set bwO [$sinkO set bytes_]
set bwl [$sink] set bytes_]
set bw2 [$sink?2 set bytes_]

#Get the current time
set now [$NS now]

#Calculate the bandwidth (in MBit/s) and write it to the files
puts $f0 "$now [expr $bw0/$time*8/1000000]"
puts $f1 "$now [expr $bw1/$time*8/1000000]"
puts $f2 "$now [expr $bw2/$time*8/1000000]"

#Reset the bytes_ values on the traffic sinks
$sinkO set bytes_ 0
$sink1 set bytes_ 0
$sink2 set bytes_ 0

#Re-schedule the procedure
$NS at [expr $Snow+$time] "record”

]
S ol by o sleiul sl Tal o )5 co 12! ol jebody [b S caill o 2 a7 lg, ol o

Jole o il (sligy s § 05,5 o ),3 BW2 5 BWI WO (gls pie )3 5 o drloma 0035

g op olilul Ol jgiws 51 (S8l a0 LU g 9,0 sunple; Ca

$NS at 0.0 "record"

$NS at 10.0 "$sourceO start"
$NS at 10.0 "$sourcel start"
$NS at 10.0 "$source?2 start"
$NS at 50.0 "$source0 stop"
$NS at 50.0 "$sourcel stop"
$NS at 50.0 "$source?2 stop"
$NS at 60.0 "finish"

$NS run

@ E9ph Vo 5ley ,o 4w, source2 g sourcel sourcel S8l alie aS04d o cdnlice

@ pladl g 0sd oo )l L G ail o o record Jlg, gl co BBgie B0 ley yo 40 9 Jlu)
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5 o5n Lzl finish Jls, £+ olej 50 dyleiige ilateds I Jol> slo oals (g3l 0,5

b oo aails (gilhas

xgraph Lo ;o il oo Wb slgy (S5 Jloges a5 598 daliyy 25,5 (VYY) JSCo 0

el oals ools lis

VYl 5o ol sligy Sdl,F logas () V=) IS
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¥ Jed

trace sl JB b o 5,15 KoS>

AS o o2l )3 aSl (g, ool slaolayg ) gl Jeads 4 Sledbl g0l lade wilgs o NS jluais

drace slelils I, canlin Sledbl aisly p3Y sl (Ko cpmled gy 2 1) Sledbl pl pulesn Lo )31
, Sledbl sla bl wilgs o a5 s gianlpy yloj o 0 |y ladel a5 ol o Lal, 51 SO

oaly gaay Blual ol L49M dwyso a4 aS ol pais b e 50 g Wled S pos

Oy Hob & (eSegae S sl jganng) Cglitte Jole piens (uair Codi g 310 g2y (525G oad

BLalS @ 5L5 g0 oo atigs a5 oS slacas Sl a5 cowl Lo Ll a0 g wileads s e

YW ‘).>| PR SWRSSUIW- R )

awk b Gl gy S 5310 9 2 V-

05w (59 polie (6,8 Jase dile Sledbl sla LB (59, gl ool Jlosl was o o5l Lo 4y Awk

Sledbsl saxe gancdB Jlogl dos ¢ ygiw (i o Shle 505 G b (50,5 ez w0l ools

BB S50 0als ools giw polie jl disSs e oo Gl ol Jle ¥y s plxil 1) 0yf

BEGIN{ FS =“\t”} {nl++} {s=s+$4} END {print “average:” s/nl}
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Sy aigs olatwl b asl sals gan o slsgw a5 Sley N7 asl atsls ,bls 4

S8 oSl TR ol sl wsls aisS !

BEGIN {FS =\t’} {nl ++} {d=3$4-t} {s2=+d*d}END {print “standev :” sqrt (s2/1n)}

4o “out.ns” el A bB G p)lex G el dlie Sy g Sl (gl colaiul Cqe
S oo ol unix Jole o

Awk -f Averag. awk out.ns

P aline (S5 4 (lare 4 b b oS

Averag : 29.379

ol asls SUATH ) (puolids (oo ) o5leds pU s |y gt pdl a5) F gt Sl (5150

Awk -v  t=29.397 -f stDev:awk out.ns

aS ool adls ol 4y wbl e standevi33.2003 alice oS oo <8l o Fwly jo a5 al
Syl dwlre Hgiws jo 1) (L Con Sl wlode] Cawds xKle lade ol p3¥ YL oog Sl
o2 b @WK Cop Sl SO 1) b el )l 4l aS v oo lis Jlie cpl pmled (oS il

Condy Sl 4 (e plxl 1) b & s (V=Y Jgo) Jol con Sl LG jo 3T ol atils ol a
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Qa)g'l Sty Sl ol o clls quales 1) L1 QT ¥ ogiw a8l £aozo (Kl g Joro Qo”'\

elaa)T 51 ooliiul Lo Gl oly 5 Silio

BEGIN {FS = “\t”} { val [n1]=%$4} {nl ++} {s=s+$4} END
av=s/nl
for (i inval) {
d=val [i]-av
s2=s2+d*d
}

Print “average: “av “ standev” sqrt (s2/nl)}

5 Jlias] Bl el 5 paSils AWK sy Sl : Y o
So ol 5l om oS 6098 Olse 4 1, OF LB +) g oopl b LU S gan Jle
ceon 4yl L 5l st Ky ule o ol sl | LT 5l alaSoes lazl o 451, Ssted g

\Y—\fsc\—\\ cP-A Y-0 QSLQKJWWW)JMAIJYQWBW‘\O)WQWJJ“AJ

BEGIN {FS ="\t"} { 11 =$3+$4+$5} {12=$6+$7+$8}{d1=$9+$10+$11 }\
{d2=$12+$13+$14} {print $1"\’11"\¢*12"\t*d1"\¢’d2 }END {}

o yses 5308,13 o LS 5 s gl AWK gy sk YoF IS0

o 9o M‘ys‘o WJ)S.uA‘ Q.ll 5 eolazwl gl

Awk -fsuma.awk  connd.tr >outfile
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kb suma.awk L g =83 aales> I8 outfile pb 4y b1 5,0 o>5,59 connditr Lol L1 a5
Ll 0033, &8lg T 19,0 TV Jaox oS a5 col

sgrep 3 oolaiw!:Y-¥

peled oo olml |y ooz LU L eoles pld 1y LU SOU aas o ojl>l Lo 4 unix jo grep  giws
il oo Llocaalosges aseice oS | o mSTIIS 5l ladlos oS canl adsl LB 51 Lbglas Joli Ly oS
A,35 oo ST dan 5l a5 pleaiig den Juld Cul Sew ns o trace >g,5 Lo Glaie 4
Yoo leds 095 4y o lads 095 3l aS |, TCP g4 5l oloains L pudl dieaddle cowl (San Lo g ol
opge Lo o ol “0 2 TCP” as, Jols gleolag, bshs o 31 il asls 1) ailas,
fpmled ol

Grep “0 2 TCP “trl.tr> tr2.tr
sperl b s1oo1d by Jb6 ijto 9 ¥-Y
25l oo “ Practical Extraction and Language “ &,Le  olowl g ,> PERL
Lasgs 35 ol 03 oo |y Saisy 5 ASCIT oMbl sl sl 35l 5 5 bl (30,5 y2ed o5l! Perl
g 00,5 Wby Luw Perl L0505 obu!l o pow sl by Jupud Lol o] L g Lary wall
Sl Sledbl (8,5 Cupae 5 @ 6l 9 n slalpl 5 (So g 0jskate den by S 09l
il oz Cgz el Ll syl g )leas )5 45 el gy ol S Perl il
;5] e )le Perl 3l oolal sblye 5l (B ol oo Sowlio (yo)]35
Sl bl 5l Sledbl zl 5wl gl 0aisS s loie 4wl a5 S>s5 slaaslp Lol g5le eoly -
bl e oolaul BB Jole (lapins 5l (6 ko ;0 a5 1osd (yg0y 2igd ooliul e

S5l e 0529 ool nle ;5 baasl 5l Fesls Jlews Perl lace Sl als; JBal 5 )l -
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Sl oo S92 ge il o Perl slacen Sl 5l g ke 45659k 4 il jopeiie L Perl -
ob 4 DT Jsaz o Jlke oodsl mleige @) 1, Perl aiasgm o Sl (6l Lo L ol o
ol cly yi Slojie (59 (29,35 el )by 5l sl wled so dlis |, TCP Jlasl (o09,35 Sl
b raules oo il 0 HlegS )T aw (68959 lsre w4 uled oo (65 Jome granularity” Lae lawg
Sy 1) TCP Jlasl g S8l 5 020,35 qule> o bo a5 2,5 pU ((out.tr Jleo olgie 4) trace Jo18

. granulavity g xS S

# type :perl throughput.pl<trace file > <required node > <granlarity > > file
$infile = SARGV][0];

$tonode =SARGV[1];

$granularity = SARGV|[2];

#we compute how many bytes were transmitted during time interval specified
#by granularity parameter in seconds

$sum =0;

$clock=0;

Open (DATA , “<S$infile ©)
I'l die “can' t open $infile $! *;
While (<DATA >) {
@x =split(" ');

# column 1 is time
If ($x [1] - $clock <= $granularity )
{
# checking if the event corresponds to a reception
If ($x eq $tonode )
{
#checking if the packet type is TCP
If ($x [4] 'tcp')

{
$sum =$sum +$x{5] ;

}

}

}

}

else

{ $throughput = $sum /$granularity ;

Print STDOUT “ $x [1] $ throughput \n”;
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$clock = $Sclock +$ranularity ;
$sum =0

$throughput = $sum/$granularity ;

Print STDOUT *§ [1] $throughput \n” ;
$clock = $Sclock +granularity ;

$sum=0 ;

Close DATA
exit (0);
290,35 acubre gl Prel )by a4 gl asl i 0-Y Jgo

gnuplot 4 3 S b 419905 paw 5 2 F—Y
sgdeas unix/linux Jole slapinaw slp (K1) 5 00,8 job 4 a5 cewl (5,581 o5 SoGnuplot
S8les 5 9,515 Sz 6518 @l a5 sylshelp joins S IRl culallige o yies )0 e
“plot <fn > 5,5 ols Gnuplot ;| eolatwl gly ol (2 Foolu 050 28lg eolaiuwl 3,40 ilgs o
Xgy blis polie Kby a5 abbice g ¥ gl 80 puw ol S8 as fn L1 o] jo a5 el
ooy Plot “fn “ wlines 1 gtws b Gglite of8 g Seow SO dawgs 05 oo bl 0l o
S glite i slol olals b bahs b o, 13 Wiy oo ) s (gl 4 Sglie olacl 4zl as
speed g b Gl g wled el bl I gslie gg 5 Wlgiee el
bl 5 gl gl POINLS 5| g Sslie olael yols 413 5 95 o ploil Plot “fn W Points 9

5,38 alss ale 4
;gnuplot sls S5y plo 3l 0

1 50 5l jo | py olygiwes Jle sl p
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Set Size 0.6 ,0.6

Set Pont Size 3

Set Key 100,8

Set Xrang [ 90.0 : 120.0]

Plot “fnl1” w lines 1 , “fn2 “w lines 8, “ fn3 *“ with Points 9

S o olul (o8 in oslal I S8 oS ol b pimeie SO ol Jas-

Mg oo bas 95 o 3 aidl) Wl oo g 1) wied (53 Ay ol I 25,5 a5 (BLSTY a3
((Ngd oolawl 6,50 slacl

led c0 3gazme ANV e 03L 4y X gome olae! ¥ las-

ad,8 fn3, 2l glime LB L 4w 5l a5 oS o adlo] axman & o 1) Sove U aw O las-
g s

&S Sl glazbo Ho Cwdle 5l Lisu a5 aes o 8 1) “key” xS ads gnuplot &S o ¥ Las-
S bl ggi g o> ggi ool pw e b o sl P ok 4 dleioe oy |) odd s 5 e B
Seft” goldS Gl 5l aulg o el e g Cambge SO sl w4 omd o Cawl soliinl 9540
Set Key below e (sl p .ayles soliul o,ué g “below” «“outside” «“bottom™ «“top” «*‘right”
ey alds Jals jsb 4y a5 “Set nokey “ oolws yb a4 b (0,5 18 Joged 3 oS weS e aS)
sob 4 w0l o b key col o aS e b e (08 g el aS ol aldle ob 4 b auled o Jled
5 2 Olgie S (oged) (gorm i e o8 Sy 4 apalyS o Loy STl e o] Blite L ol ool

t e slp w18 “Plot” [giws 10 zu e jeb as |y 5553 pb wub awaas ol bl L el

Plot “fnl “ t “expectation” w lines 1 , “fn2 “ t “variance “ w lines 2
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sldlss 31 .o auslgs jalls (key) oS ,o “variance” ¢ “expectation ““ slgols bxsl jo
BB T sl oS o8 clg bl SO gy 1) sl Gl oo wigd eolatul (b cpais Oljgws )l
mbos 6,050 1 T aled salizd T 51 agtulss a5 ol o Sl 4y ey w3L “gl.com”

Load “gl.com”

oolaw! )90 ) ‘_JS..» aQ ‘5:9.»...» R JJ[B g_i:)‘ Lc'buw )‘ ‘5>)J C‘)?LM»‘ e ;).4‘9.:‘5@ Gnuplot

Plot “queue.tr “

Using 1: ($4/1000) t “kbytes “ w lines , \”queue. tr “ using 1:5 t “Packets “ w lines 2
OF 3 X yyme lsie 4 Mquene.tr” LU Jol gt Sl ookl b Sovie Sy i pogie 4 o5
P9d (Fouio Hl090d w5 axio (led (59, 9 Wb B Y Hemme Glyie Ve e Sde e o)z
S ol el w5 5 by jeme sl ey gt 9 X e sl Jol g ) eslinal b
ol oo “Lines” ¢ “t” g “using” <5 5 a5 awdb acsls
Xgraph ,f ! oS b 19 905 paw 93 20—V
3heolainl b cwl lo Syl al)cwlonls wol 3 NS lawg a5 Cowl diedguw puw i delp SO
D¢ oa >l oolel Xgraph asLi ;o Make jgiws b s 9 998 blaolS a8l 53k 4( configure
o LG slo 5 Tgif Postscript slacw,s “Hdepy” asSs o0, SSUS L b oas o ojl>! Xgraph
Do sl

x-y Sledbl aads o ol Sl b o b g (SO Ul b 4y Xgraph jgiws (5949

..\.ml.aLSA J..Le QT s 2 6‘).3

' Load
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c S 5l S daleigs bz |2 5 1 gla L wamio Sy (g5, Xgraph £2 f1 Jlis sl
: 5l as,Le Xgraph ;o b
Seles eolawl —t “title” & ,Le 5 :(lgae) Title
—geometry Xsize X ysize &,le g Jow jl(o;ll) Size
X, Dol oo oY “ytitle g o Y e gl e -XXtitle” o 920 5l leae
ol Al Sl Sae Xgraph jgiws Jlie olaie @
Xgraph f1 {2 -geometry 800 X400 -t “Loss rates “—X"time “ —y “Lost Packets”
tel o oSl S Glao 1 O Z1 it 2 #-Y
aeizma el glacas Sl 9,0 1) “awk” § “graph” ol unix ofygiws a5 Sl Sew g olg o
o) Jlo sl conl padanig Jl j0 b oS abl Sbey oledbl (isls £4,8 a5 slasgSa 0,5
Sl ygiws Gy 5l b B3l 4 lad e unix Ol ygiws 5l as el o] trace sla Ll 0 ,Ssgase

S5 Sl o Jlite (gly 098 oolatwl wiS 3L 1) Canlgsy0 5550 18 aS tCl
$Set file 1 [ open out.tr w ]
1390 (ol p) jeiws Jawsd (pedls T-V Jeax joexlute] coy Sl gg,5 j0 jetws ol as)
Set file 1 [ open “ grep \ “tcp\”">out.tr” w]
Ol 0 pSiiws “filel” aS (o Aty Gl (il n e e b g, bahas aS 8gb o el oS (]

outtr il s axsl e Lls |, “TCP” anls o o jle a5 bylas o] b5 5 Wigd S sl oo bbb

wiloe BB ol oS file] g 35 aligs wianl aes g ol oS
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:¥ Jd

TCP/ IP (g s § o

TCP (transport contral protocol) JSigy \—¥

JTCP S0 g aib oo o) S5 780 51 s SYols Johe oS conl Jlal &Y SS9, S
5 ol i TCP 4> Sl D4y oo ol Sy A e a5 S Caonl Glilo Coz oy
Aibge Wl ged 5w, e Bl el Al S gy ghe
bl oo TCP L Lo o (g3lws lailinl losle o yiage IETF(Internet Engineering task Force)
abixd 5 K, b a1, o luslwl ass o0 o ITVosle (g5lws Jaibin] slagylojle plo GMS 5 a5
Silwands SeS 4y |, TCP aS ns o Sl aix idu (ol aslsl o aes oo )13 Las] (o alasd 4
g se dl led oo (o) 2

exl.tel JUo owyp g 6T — Y-F

(F-Y Jgux) exlutcl coo Sl lawgs aS outtr L8 69, |, (O-Y Jguz) el aurs ojl>]

ipmlod b b jelkaie (pl 6l pmled T2l el oals 0l
Perl throughput.p outtr 4 1>thp

20,35 o Jlaie S sl SO e o 990 ol jo S lad e S | jeSae Ol s ey e

Gnuplot

Setsize 0.4 ,04

Set key 60 , 1500

Plot “thp” w lines 1

Ouoles = alaxMo V-V Jgaz o], Sljgiws pl ax oS
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‘Q.AJLNLSA oo 5 1) TCP JLo 0 y0nis o5lasl Jloges S0 e 40 Lo (o S8, e S0 yehaie 4

el ool ex1.tel Lawgs a5 wily o “Winfile” 6 len ol (Y-F JS5)

EI:'| [ I L
WinFile’
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Cawdy TCP Jlai! 3l alfen 5 plaie a5 > G oS anled co ala>do a4 Ve 4l ol 5l
el 5l (6 St puilSe SO 5l o TCP a8 ol ] 039,185 L o a5y opl cde 0] o

oS Sloy b ams oo ialidl s Spge 4 L, |, (hogs Jlol oo ojlwil 5 ayles oo ooliiu
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sonlive ' atual Eoro 38 0 1) TCP 3l ;35595 5 Jlubl )L, G Ve ole 5l L8 ams 7, ploo)
o Lod o0
aS J 50 oy Az )0 (e )lo 9,0 3By 1 e iy ols cws g laae TV Lo j0
SOFY Gloj 4o aS canl T o Sols mesgi 1) 0550 (pl g oo 435 ol Jho & o3 29,35
Aoy 55 0,0 35y o)l AT amed Lol anl aies Yo 0 5y o3Il 4,511 .3 ls Sy alols o ' addy
3,15 3424 bm Laia fols caws jlolas, SO g9,0 Gloj ,0 <SG 38 V)
. ct n o ed o tar e Vi s )
g o i 5l caxd g ' Eoli sleSd (59, TCP — V-F
ool Caws jlolas y andl g sl cde 4 baaiy fjols caws laslos S alaxdle oS aigS ylen )La
Syge 3 Logase gaige ol wil Uas l)ls b s wane slocSi ey cile 4y Wlgs o bodiy
5 &5yes; AY ol Al slaog L Joe a5 Slaal jo il cusys Wiy oo og0l, slacsid
Log et wals conl Sew 1) Bl ol 58 Glolsale slacsild o b 5wl oo Aqul_.u sk
shls bains Wlg oo a5 mgd Jooo canl (San Sl 5 goo MBS 4l 5], MU
e opl o (fadingeshadowing o 6o lge Cde ) (gl Bl bddiny w9 g olallas
Jloyl S (69, s 1S o0 (2,8 Lo o lis 1) ez o G 0,50,l5 (SeSa mu,lo auad
Joe ol ..ml.,s,a OdbBi> b o oVlas] ol polae a Lsi‘;.....;b &2 09 (9)0m Sad)
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# Set error model on link n2 to n3

Set loss_module [ new Error model ]

$ loss _module Set rate 0.2

$loss _module ranvar [ new Random Variable /Uniform]
$ loss _module drop-target [ new Agent /Null ]

$ ns loss model $loss _module $ n2 $ n3

9 0iS oo opets 1LY 0 e 4y bdag yolocawss 51 &5 G $loss _module Set rate_ .Y g
g el 00l Gy i (g ha 0 A 05 o S |y Co s a e Bolal sl st Mg S QT
SVl e S lgie s 0,8 18 Sledas ol 50 cov S plaS oS WS o et 5T LS

9 Lo 38 o STl a4 UDP Jlasl o5 L 1y s)ls Las g ogeme o5lS S Sy a5 TCP

S oo S e LYY s

ETF
P
La)
S
Y] —
—_— 3
SV N
“

- TT
| = | m
Al

rdrop.tcl Jle: ¥-¥ Ko

-0 o)lal el ol acil o Queue Monitor IS ;o wge o5 SO :Queue monitoring @
5 00 Jlu,l laaius 9 (699,5 sdins v Job 9,50 ;0 1, (guuto 9 0L Sledbl b sas
sog o Queue Monitor < (s5lwesls Sz ol & glans 1) ad,cuns 5l slaaia
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Set gmon [ $ns monitor-queue $n2 $n3 [open gm.out w ] 0.1 ], [$ns link $n2 $n3 ]

queue-sample — timeout , #[$ns link $n2 $n3 ] start —tracing

ol 8 a5 1) (S A s ooy Jgl U rowl GlgS,T F (slyls QueueMonitor i
Febl ol g wleioe et 1) trace g55 (g )5 BB osm iled (o0 (Ao w5l 5tile
99,9 S35 o o Jlio 3550 50 laioe ezt 1) S Gl g5y e (99,558l Sloj oy
7957 L ogd oo a3y, qmuout LB (59, (79,5 9 95 (o0 4B o)y 01203 (sladgs S
13l oo 5 o) s sl

oles)
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# create the Simulator instance
Set ns [new Simulator ]

$ns color 1 Blue

$ns color 2 Red

# Open the NAM trace file
Set nf [open out.nam w]
$ns namtrace —all $nf

#open the Trace file

Set tf [open out.tr w]

Set wimdowVsTime2 [open WindowVsTimeNReno w]
$ns trace —all $tf

#Define a 'finish' procedure
Proc finish {} {
Global ns nf tf
$ns flush —trace
Close $nf
Close $tf
Exec nam out.nam &
Exit O

}

#create four nodes

Set n0 [$ns node ]

Set nl [$ns node]

Set n2 [$ns node ]

Set n3 [$ns node ]

$ns at 0.1 “$n1 label \ “CBR\””
$ns at 1.0 “$n0 label \"FTP\”

#create links between the nodes

$ns duplex-link $n0 $n2 2Mb 10ms DropTail

$ns duplex-link $n1 $n2 2Mb 10ms DropTail

$ns simplex-link $n2 $n3 0.07Mb 20ms DropTail
$ns simplex-link $n3 $n2 0.07Mb 20ms DropTail
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# set Queue Size of link (n2-n3) to 10
$ns queue —limit $n2 $n3 10

#Monitor the queue for link (n2-n3). (for NAM)
$ns simplex — link —op $n2 $n3 queuePos 0.5

#set error model on link n3 to n2.

Set loss_module [ new ErrorModel]
$loss_module set rate_0.2

$loss_module ranvar [ new Randomvariable/Uniform]
$loss_module drop- target [ new Agent/Null]
$ns lossmodel $loss _module $n2 $n3

# setup a TCPconnection

Set tcp [new Agnet/TCP/newreno]

$ns attacj-agent $n0 $sink

$ns connect $tcp $sink

$tep set fid_1

#setup a FTP over TCPconnection
Set ftp [new application/FTP]

$ftp attach-agent $tcp

$ftp set type_FTP

# setup aUDPconnection
Set udp [new agnet/UDP]
$ns attach-agent $n1 Sudp
Set null [new agent/Null]
$ns attach-agent $n3 $null
$ns connect $udp $null
$udp set fid_2

#setup a UDP connection
Set udp [new agent/UDP]
$ns attach-agent $nl1 Sudp
Set null [new agent/ Null]
$ns attach-agent $n3 $null
$ns connect $udp $null
$udp set fid_2

#setup a CBR over UDP connection
Set cbr [new application /traffic/CBR]
#cbr attach-agent Sudp

$cbr set type_CBR

$cbr set packetsize _1000
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$cbr set rate_0.01Mb
$cbr set random_false

#schedule events for the CBR and FTP agents
$ns at 0.1 “$cbr start

$ns at 1.0 “$ftp start

$ns at 624.0 “$ftp stop

$ns at 624.5 “$cbr stop

# printing the window size

Proc plotWindow {tcpSource file} {

global ns

set time 0.01

set now [$ns now]

set cwnd [$tcpSource set cwnd_]

puts $file “$now $cwnd”

$ns at [expr $now +$time] “plotWindow $tcpSource $file”

$ns at 1.1 “plotWindow $windowVsTime2”

# sample the bottleneck queue every 0.1 sec. store the trace in gqm.out
Set gqmon [ $ns monitor —queue $n2 $n3 [ open qm.out w ] 0.1] ;
[$ns link $n2 $n3 ] queue —sample — timeout ; # [$ns link $n2 $n3 ] start —tracing

#Detach tcp and sink agents (not really necessary)

$ns at 624.5 “$ns detach —agent $n0 S$tcp ; detach — agent $n3 $sink
$ns at 625.0 “finish

$ns run
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#create the Simulator instance
Set ns [ new Simulator ]

#Opening the trace files
Set nf [open out.nam w ]
$ns namtarce —all $nf

Set [open out.tr w ]

Set windowVsTime [open win w]
Set param [open parameters w]
$ns trace-all $tf

#Define a ‘finish * procedure
Proc finish {} {
Global ns nf tf
$ns flush —trace
Close $tf
Exec nam out.namé&
Exite O

}

#create bottleneck and dest nodes and link between them

! recursive
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Set n2 [$ns node ]
Set n3[$ns node ]
$ns duplex —link $n2 $n3 0.7Mb 20ms DropTail

Set NumbSrc 5
Set Duration 10

#Source nodes

For {setj 1} {$j <=$NumbSrc } {incrj} {
Set S($)) [$ns node]

}

# create a raandom generator for starting the ftp and for bottleneck link delays
Set rng [new RNG]
Srng seed 0

# parameters for random variables for beginning of ftp connections
Set Rvstart [new Random Variable/Uniform]

$Rvstart set min_0

$Rvstart set max_7

$Rvstart use-rung $rng

}

#we define two random parameters for each connection
For{setil} {$i<=$numbsrc} {incr i} {

Set startT($i) [expr [$Rvstart value]]

Set dly ($i) [expr [$Rvdly value]]

Puts $param “dly($i) $dly ($i) ms”

Puts $param “startT ($i) $startT($i) sec”}

#links between source and bottleneck

For {setj 1} {$j <=$numbsrc} {incrj} {

$ns duplex-link $s($j) $n2 10Mb $dly ($j) ms Droptail
$ns queue-limit $s($j) $n2 100

}

#Monitor the queue for link (n2-n3).(for NAM)

$ns duplex-link-op $n2 $n3 queuepos 0.5

#setQueue sizw of link (n2-n3) to 10

$ns queue-limit $n2 $n3 10

#TCP sources

For {setj 1} {$j<=$Numbsrc} {incrj} {
Set tcp_src($j) [new agent/TCP/Reno]

}

#TCP Destination

For{setj 1} {$j <=$Numbsrc} {incr j} {
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$ns attach-agent $s($j) $tep_src ($))

$ns attach-agent $n3 $tcp_snk($))

$ns connect $tcp_src($)) $tep_snk($j)

}

#FTPsources

For {setj 1} {$j<=$Numbsrc} {incr j} {
Set ftp ($j ) [$tep_sre($)) attach-source FTP]
}

#parametrisation of TCP sources
For{set j 1} {$j<=$NumbSrc} {incr j} {
$tep_sre ($)) set packetsize_552

}

#Schedule events for the FTP agents:
For{setil} {$i<=$Numbsrc} {incri} {
$ns at $startT($i) “$ftp($i) start”

$ns at $Duration “$ftp ($i) stop”

}

Proc plotwindow {tcpSource file k} {
Global ns

Set time 0.03

Set now [$ns now]

Set cwnd [$tcpsource set cwnd_]

Puts $file “$now $cwnd”

$ns at [expr $now+ $time] “plotwindow $tcpSource $file $k™}

#the procedure will now be called for all tcp source

For {setj 1} {$j<=$Numbsrc} {incrj} {

$ns at 0.1 “plotwindow $tcp_src($j) $window VSTIME $j”
}

$ns at [expr $Duration] “finish”
$ns run
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Set ns [new Simulator]

#There are several sources of TCP sharing a bottleneck link
# and a single destination . Their number is given by the parameter NodeNb

# S(1) -——-

# . I

# . —em e N D(1) ... D(NodeNb)
# . I

# S (NodeNb) ----

#Next file will contain the transfer time of different connections
Set Out [open Out .ns w]

# Next file will contain the number of connections

Set conn [ open conn.tr w]

#Open the Trace file

Set tf [open out .tr w]

$ns trace —all $tf

#we define three files that will be used to trace the queue size ,
# the bandwidth and losses at the bottleneck .

Set gsize [open queue size .tr w ]

Set gbw [ open queuebw .tr w]

Set gbw [ open queuelost.tr w]

# defining the topology

Set N [ $ns node ]

Set D [$ns node |

$ns duplex —link $N $D 2Mb 1ms DropTail
$ns queue —limit $N $D 3000

# Number of source node
Set NumberFilows 530

#Nodes and links

For {setj 1} {$j<=$NodeNb} {incr j } {

Set S($j) [ $ns node]

$ns duplex — link $S($j) SN 100Mb 1ms DropTail
$ns queue- limit $S($j) $N 1000

}

#TCP Sources and Destinations

For {set i1l } { $i <=$NodeNb} { incr i } {
For {set j 1 } { $j <=$NumberFlows} { incr j } {
Set tcpsrc ($1,%)) [ new Agent /TCP/Newreno]

Set tcp _snk ($i.$j ) [ new Agent /TCPSink ]
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$tepsre ($1,$)) set window _2000
}

#connections
For {seti 1} { $i<=$NodeNd} {incr i} {
For {set j 1} { $j <=$NumberFlows} {incr j} {
$ns attach- agent $S($i) S$tcpsrc($i.$))
$ns connect $tcpsrc($i, $j ) $tep _snk($i.$j)
}

}
#FTP sources

For { set i 1}{ $i<=$NodeNb}{ incr i} {

For {set j 1 } {$j<=$N umberFlows} { incr} {

Set ftp ($i.$)) [ $tcpsre($i.$)) attach-source FTP]
}

}

# Generators for random size of files.
Set rngl [new RNG]

$rngl seed 0

Set rng2 [ new RNG]

$rng2 seed 0

#Random interarrival time of TCP transfers at each source i
Set RV [new Random Variable/Exponential ]
$RV set avg_0.045
$RV use-rng $rngl
#Random Size of files to transmit
Set RVSize [new RandomVariable/Pareto]
$RVSize set avg_ 10000
$RVSize set shape_ 1.5
$RVSize use-rng $rng2
# We now define the beginning times of transfers and the transfer sizes
# Arrivals of sessions follow a poison process.
#
For { seti 1} {$i <= $NodeNb} { incri } {
Set t [$ns now]
For {setj 1} {$j <=$NumberFlows} { incrj} {
# set the beginning time of next transfer from source i
Set t [expr $t+ [ $RV value]]
Set Conct ($i, $j ) $t

#set the size of next transfer from source 1
Set Size ($i, $j) [ expr [ $RVSize value ] ]
$ns at $Conct ($1,$j) “ countFlows $i 17
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)

#Next is arecursize procedure that checks for each session whether
#it has ended . The procedure calls itself each 0.1 sec (this is

# set in the variable “time”) .

#If a connection has ended then we print in the file $Out

#  * the connection identifiers iandj,

#  * the start and end time of the connection,

# * the throughput of the session

# * the size of the transfer in bytes

# and we further define another beginnig of transfer after a random time .
Proc Test {} {

Globar Conct tcpsrc Size NodeNb NumberFlows ns RV ftp Out tcp_snk RVSize set time
0.1

For { setil} {$i<=$NodeNb} {incri } {

For {setj1} {$j<=$NumberFlows} {incr j } {

# We now check if the transfer is over
If { [$tepsrc($i,$)) set ack_] = = [$tepsre($i.$j) set maxseq_] } {
If {[$tcpsre($i,$)) set ack_] >=0} {
# if the transfer is over, we print relevant information in $Out
Puts $Out “$i,$j\t$Conct( $i,$j)\t[expr [ $ns now ] ] \t\
[ expr ($Size ($i.$)))/ (1000*([expr [$ns now ] ] - $Conct ($i.$))))\t$Size ($i,$j)”
countFlows $i O
$tepsre($1,$)) reset
$tep_snk($i,$)) reset

I
$ns at [expr [ $ns now] +$time “Test”
}

For {setj 1} {$j <=$NodeNb} { incr j } {
Set Cnts ($j) 0
#The follwing recursive procedure updates the number of coneections
#az a function of time. Each 0.2 it prints them into $conn. This
#is done by calling the procedure with the “sign” parameter equa]
#3 (in with case the “ind” parameter does not play a role) . the
3 proceddure is also called by the test procedure whenever a connection
# from source I ends by assigning the “sign” parameter 0, or when
# it begins , by assigning it 1( I is passed through the “ind” variable) .
Proc countFlows {ind sign } {
Global cnts conn NodeNb
Set ns [Simulator instance]
If {$sign==01} { set Cnts ($ind) [ expr $Cnts ($ind) — 1]
Jelseif {$sign==1} { set Cnts ($ind) [expr $Cnts($ind) + 1 ]
} else {
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Puts — nonewline $Conn “$ns now] \t”
Set sum 0O
For {set j 1} { $j<= $NodeNb} { incr j} {
Puts — nonewline $Conn “$Cnts($j) \t”
Set sum [expr $sum + $Cnts($j)]
}
Puts $Conn “$sum”
$ns at [ expr [ $ns now ]+ 0.2 ] “countflows 1 3

1

# define a “finish” proceddure
Proc finish {} {
Global na tf gsize gbw qlost
$ns flush — trace
Close $qgsize
Close $qlost
# Execute Xgraph to display the queue size , queue bandwidth and loss rate exec xgraph
queuesize . tr —geometry 800x400 — t “Queue size “-x’secs”’-y” # packets” & exec xgraph
queuesize .tr —geometry 800x400- t “bandwidth” —x “secs ““ —y “kbps”’-fg white &
Exec xgraph queuelost.tr — geometry 800x400 —t “#Packets lost “ —x “secs” —y “packets”
& exit 0

}

#QUEUE MONITORING
Set gfile [ $ns monitor-queue $N $D [open queue .tr w] 0.05]
[$ns link $n $D] queue-sample-timeout;

#the following procedure records queue size, bandwidth and loss rathe
Proc record {} {

Global ns dfile gsize gbw glost N D

Set time 0.05

Set now [$ns now]

#print the current queue size in $qsize, the current used

# bandwidth in $gbw, and the loss rate in $qloss

$qfile instvar parrivals_ pdepartures_ bdrops_ bdepartures_ pdrops_
Puts $gsize “$now [expr $parrivals_ -$pdepartures_ -$Spdrops_]~
Puts 4gbw  “4now [expr $bdepartures_*8/1024/$time]”

Set bdepartures_0

Puts $qlost “$now [expr $pdrops_/$time]”

$ns at [expr $now+S$time] “record”

}

$ns at 0.0 “record”

$ns at 0.01 “test”

$ns at 0.5 “countflows 1 3”
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$ns at 20 “finish”
$ns run
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Set gfile [$ns monitor-queue $N $D [open queue.tr w] 0.05]
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Set ns [new simulator]|

# there are severalsources each generating many TCP sessions sharing a bottleneck
#link and a sungle destination. Their number is given by the parameter nodeNb
S(H -

#
# )
# R N ——mme D(1) ... D(NbdeNb)
# )
# S(nodeNb)  -----

# next file will contain the transfer time of different connections
Set out [open out.ns w]

#next file will contain the number of connections

Set conn [open conn.tr w]

#open the trace file

Set tf [open out.tr w]
$ns trace-all $tf

#defining the topology

Set N [$ns node]

Set D [$ns node]

$ns duplex-link $N $D 2 mb 1 ms droptail
$ns queue-limit $N $D 3000

#number of flows per source node

Set number flows 530

$nodes and links

For {setj 1} {$i<= $nodenb} { incrj } {

Set S($)) [$ns node]

$ns duplex-link $S($j) $n 100mb Ims droptail
$ns queue-limit $ S($j) SN 1000 }

#TCP sources, destinations, connections

For {set I 1} {$i <=$NodeNb} {incrI } {
For {setj 1} {4j<=$numberflows} {incrj } {
Set tepsre ($i,$)) [new agent/TCP/newreno]
Set tcp_snk(4i,$j) [new agent/tcpSink]

$tepsre ($1,%)) set window_2000

$ns attach-agent $S($i) $tep_sink($i,$j)

$ns attach-agent $d $tcp_snk($i,$j)

$ns connect $tepsre ($1,%)) $tep_snk($i,$))

Set ftp($1,$)) [$tepsre ($tepsre($i,$5) attach-source FTP]
}}

# Generators for random size of files
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Set rng 1 [new RNG]
$rng 1 seed 0
Set rng 2 [new RNG ]
$rng 2 seed O

#Random inter —arrival time of TCP transfer at each source i
Set RV [new RandomVariable / Exponential ]

$RV set avg _0.045

$RVuse—rng $rngl

#Random size of files to transmit

Set RVSize [new RandomVariable/Pareto]
$RVSize set avg _ 10000

$RVSize set shape _ 1.5

$RVSize use —r ng $rng2

# We now define the beginning times of transfers and the transfer sizes
# Arrivals of session follow a Poisson .
#
For {seti 1} { $j<=$NumberFlows} { incr } {

Set t[ $ns now ]

For {set j 1 } { $j<= NumberFlows } { incr j } {
# set the beginning time of next transfer from from source and attributes
Set t [expr $t+ {$SRV vslue ] ]
$tepsre($i,$) ) set starts $t
$tepsre ($1,8) ) set sess $j
$tepsre ($1,$) ) set node $i

$tepsre ($1,%) ) set size [ expr [ $SRVSize value ]]

$ns at [ Stepsre (8i,8)) set starts ] “$ftp ($i,$j) send {Stcpsre ($i, $j ) set size ]

# update the number of flows
$ns at [$tepsrc ($i,$)) set starts ] ““ countFlows $i 1

1

For { set j 1} {$j <= $NodeNb} { incr j } {

Set Cnts( $j) 0

}

# The following procedure is called whenever a connection ends

Agent/ TCP instproc done {} {

Global tcpsrc NodeNb NumberFlows ns RV ftp Out tcp _ snk RVSize

# print in $Out : node . session , start time , end time , duration,

# trans- pkts, transm-bytes , retrans-butes , throughput

Set duration [ expr [$ns now ] - [$self set starts ] ]

Puts $Out ““ [$self set node ]\t [$self set sess ]\t [$self set starts ]\t
[$ns now] \t $duration \t [$self set ndatapack _]\t\
[ $self set ndatabutes _]\t [$self set nrexmitbytes_ ]\ t\
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[ expr [ $self set ndatabytes_ ] /$duration
countFlows [$self set node ] 0

}

# The following recursive procedure updates the number of connections
# as a function of time . Each 0.2 sec it them into $ns Conn . This
# is done by calling the procedure with “sign * parameter equal
# 3 (in which case the “ind *“ parameter does not play arole ). The
# procedure is also called by the “done” procedure whenever a connection
# from source i ends by assigning the “sign” parameter O , or when
# it begins , by assigning it 1 (i is passed through the “ind * variable ) .
#
Proc countFlows {ind sign } {
Global Cnts Conn NodeNb
Set ns [Simulator instance ]
If { $sign==0} { set Cnts ($ind ) [ expr $Cnts { $ind ) -1 ]
} elseif { $sign==1} { set Cnts ($ind) [expr $Cnts ($ind) + 1 ]

} else {
Puts — nonewline $Conn “[$ns now ] \t”
Set sum O

For {set j 1} { $j <=$NodeNb } { incrj } {
Puts — nonewline $Conn “ [$ns now ] \t”
Set sum O
For {setj 1} { $j<=$NodeNb }{ incrj } {
Puts — nonewline $Conn “$Cnts{$j) \t”
Set sum [expr $sum + $Cnts ($j) ]
}
Puts $Conn “$sum
$ns at [expr[$ns now ] +0.2]“ countFlows 1 3”

)

Define a “ finish “ procedure
Proc finish { } {
Global ns tf
Close $tf
$ns flush —trace
Exit 0

}

$ns at 0.5 “countFlows 1 3”
$ns at 20 “finish”

$ns run
TCP ols5 oYl sy short TCP.tcl oy Kol - F-F _fpa
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$tepsre ($1,8)) set starts $t
$tepsre ($1,9)) set sess  $j
$tepsre ($i,$)) set node $i
$tepsre ($i,$)) set size [expr [ $SRVSize value ]]

O AB3S by, 5o Test Jlsy nj ol g osdise i 5 S)ge 4 “Done” Iy, ;5
g o0 ( Y-¥ Jgaz) shory TCP.tel ey Sl

Agent/TCP instproc done { }{
Global tcpsrc nodenb numberFlows ns RV ftp out tcp_snk RVsize
#print in $out :node,session, start time, endtime,duration,
#trance-pkts,transm-bytes , retrans-bytes, throughput
Set duration [expr [$ns now] —[$self set stars] ]
Puts $out “[$self set node ] \ t [$self set sess] \t [$self set start] \t\
[$ns now] \ t $duration \ t[$self set nrexmitbytes_] \t\
[$self set ndatabytes_] \t [$self set nrexmitbytes_] \t\
[expr [$self set ndatabytes_] /$duration ]”
Countflows [$self set node ] 0

tolos oo o0litul 1) TCP c¥lasl condy plo Lo a5 asl axsls bl 4
byl Tsazme Jb i gty SN ol Jlasl alowgs o0l Jiiie sloasny slass Ndatapack
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Ll Jlai! Lawgs ool Jlo,l Sledbsl slacol olass : Ndata bytes

e Ndatabyte _is the number of data bytes transmited by the connection.
e N rexmitpackets _ is the number of packets retransmited by the connection.
e N rexmitbytes _is the number of bytes retransmited by the connection.

L] Jlas! Jawgi ool Jlu)| [ lyaws olues: Nrexmitpackets _

ol JLasl Ly o0l Lol Toazme (glaculy slass: Nrexmitbytes





